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FOREWORD

This report presents the analysis of the performance of candidates who sat for the
Advanced Certificate of Secondary Education Examination (ACSEE) in Arabic
subject, which was conducted in May 2021. The feedback provided in this report is
intended to contribute towards understanding of possible reasons behind the
candidates’ performance in this subject. The focus of the analysis was on well
performed questions, those with average performance and those with weak
performance. The report therefore, provides feedback to teachers, students and
other educational stakeholders for better performance of the Arabic Language
Examinations administered by NECTA.

The general performance of candidates in the Arabic Language in the ACSEE
2021 was average (46.57%). This performance could be attributed to the
candidates who scored high marks. These candidates identified the task of the
questions and they had comprehension skills. Moreover, they had adequate
knowledge of grammar, morphology, rhetoric and literature. Furthermore, they had
sufficient vocabulary for use in different contexts as well as sufficient vocabulary
to express themselves using the Arabic Language.

However, the report also indicates some of the reasons which attributed to the
candidates’ weak performance in the Arabic Language. These candidates could not
respond according to the requirements of the questions and they demonstrated lack
of comprehension skills.

The Council would like to extend its appreciation to the examiners, examination
officers and all others who participated in preparing and analysing the data used in

this report.
%

Dr. Ch‘arles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents analysis of the performance of the candidates in the Arabic
Language who sat for the Advanced Certificate of Secondary Education
Examination (ACSEE) which was conducted in May 2021.

The Arabic Language Examination consisted of two (2) papers, which are Arabic
Language paper 1 and paper 2. Each paper had eight (8) questions distributed in
two (2) sections. The candidates were required to choose four (4) questions in
section A and two (2) questions in section B. Each question in section A carried
fifteen (15) marks and each question in section B carried twenty (20) marks. The
aim was to test the candidates’ Arabic Language skills in comprehension,
grammar, language use, morphology, composition, rhetoric, response to readings
and literature.

A total of 260 candidates sat for the examination in ACSEE 2021. Among them,
195 (75%) passed and 65 (25 %) failed. When compared to ACSEE 2020, 81.86
per cent of the candidates passed. Hence there is a decrease of 6.86 per cent of
the candidates who passed in 2021.

This report therefore, provides a detailed analysis based on the candidates
performance for each question and the expected responses from the candidates.
Samples from candidates’ responses are presented in order to provide a general
picture of how the candidates responded to each question. The analysis displays
the percentage of performance in three levels namely; good, average and weak.
Good performance ranges from 60 to 100 per cent, average performance ranges
from 35 to 59 per cent and weak performance ranges from 00 to 34 per cent.
These categories are presented in three colours — red as weak, yellow as average
and green as good respectively.

It is expected that the report will be useful to all educational stakeholders and
will enable teachers and students to improve the teaching and learning process in
the Arabic Language subject.



2.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 1

2.1 Section 1: Short Answer Questions
This section had five questions. The candidates were required to attempt only
four questions. Each question carried fifteen (15) marks.

2.1.1 Question 1: Reading the Passage and Answering the Questions
This question had two parts, (a) and (b). In part (a), the candidates were
required to read the passage and answer the five (5) questions and in
part (b), the candidates were instructed to identify five gerunds from the
passage. The question tested the candidates’ ability to read and
comprehend the given passage. This question was set from the topic of
comprehension.

The following are the five (5) items which were given for this question

in part (a).

1) (Aaatf sUdY g i Of o0 ALY 4dija] AN degpdd] 4 L) “Which law
saddened the boy after marrying the beautiful girl?”

2) (Ml iy Sopima pulif ol (00 130 J#) “Does this principle apply
to certain people? Clarify”.

3) (fdiag) <ile Latic Jdll Juas /ils) “What happened to the boy when his
wife died?”

4) (fl3laly fonlt 9 g0 9 SSYI Joli AN SIS cdss) “How was the boy eating
while he was in the pit? And why?”

5) (foad o g sdy of lhicd s 4 Gaa Lily) “What happened to him that
enabled him to get out of the pit?”

This question was attempted by 148 (56.9%) candidates, out of which
16 (10.8%) candidates scored from 9 to 13.5 marks. Moreover, 44
(29.7%) candidates scored from 5.5 to 8.5 marks. Additionally, 88
(59.5%) candidates scored from O to 5 marks. The general performance
in this question was average as 60 (40.5%) candidates scored from 5.5
to 13.5 marks. The candidates’ performance is summarised in Figure 1.
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Figure 1: The Percentages of the Candidates’ Performance in Question 1

The analysis of the candidates’ responses in this question shows that 88
(59.5%) candidates had weak performance. Those candidates failed to
comprehend the passage. Instead, they copied the sentences from the
passage and used them as answers without considering meaning and
demands of the question. They manifested lack of sufficient vocabulary
in the Arabic Language.

For example, in item (2) which asked: ( fosiee (uldf Ao sl o sildh 1o Ja
i e g) “Does this principle apply to certain people? Clarify”. One of
the candidates answered incorrectly as follows: ( 4ty Ledls by Lgtda JS
Condal) cial 34l in dadi dllal) agaidly Liaal) Glae g Lol jLss) “All her
jewels walked behind her, along with the elders of the state and
notables of the states of the city, until they reached that cursed pit”.
This candidate associated the word (k=) “Walked” from the question
with word () “Walked” in the passage.

The expected answer was supposed to be as follows: ( & CsLdl /is <Y
A el ) el o agllS 5y ) JAT JS e g St i (] Lo s
Ada LS L dipsall 038 4 7 9 7 e JS Ao L] 5 a9 4o 4) “No, this law is
not applicable to certain people. Rather, it applies to all the people of
the Island, from the King to the youngest citizen and also to anyone
who gets married in the city, regardless of the gender”.

Another example of an incorrect response was in item (4) which asked:
(Flilaly Seundt 4 989 JSSYI Jolils Jdl oIS i) “How was the boy eating
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while he was in the pit? And why?” One of the candidates provided
his/her response as follows: ( 48 4ve /s il cuscw ddiall ya JSYI bl SIS LS
4éé 4 dxauy sladl) “The boy was eating while he was in the forehead
because they brought him little water and seven loaves”. This candidate
compared the word (S5¥) “eating” from the question with same word
(J5Y) “cating” in the passage. The correct answer was supposed to be:
(Sl o plalal] (o s Lo ddly Y Tn i sy SSY) (6 suaally A4l 50S) “The
boy restricted himself from eating and drinking so that the food would
not run out in a short time”.

In part (b), the candidates failed to understand and identify the gerunds
in the passage. Hence, they provided answers which were not related to
the demand of the question. This was due to a poor mastery of the
Arabic Language.

For example, one of the candidates identified the verbs (Utw) “Walked”,
(£bivw) “Managed” and (@) “Wanted” instead of gerunds. Another
candidate provided standard or scales of gerunds (teew - &4 and ( - Lded
L) instead of identifying the gerunds from the passage. A few of
them left the question unanswered. This shows that these candidates
had insufficient vocabulary in the Arabic Language. Extract 1.1 is a
sample of a candidate’s responses.
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Extract 1.1: A Sample of Incorrect Responses in Question 1

Extract 1.1 shows a response from a candidate’s script that picked some
words from the passage and used them as the answers in part (b) instead
of identifying five gerunds.

Conversely, there were 44 (29.7%) candidates who had average
performance in this question. Most of those candidates provided correct
answers to the items (1), (3), (4) and (5) in part (a) and part (b), managed
to identify one or two out of five gerunds. Hence, they obtained average
marks.



However, there were 16 (10.8%) candidates who performed well in this
question. These candidates understood the requirements of the question
and they provided the correct answers to both parts (a) and (b). For
example, one of the candidates provided his/her answers to the five
items in part (a) as follows:

1) ((sad Sy JS o alad b Llsaad) LY 79 jF o A (40 i jnf oY g sl
LS dra (827 ) Lged 5 gt 8] JS ol g L Lgaa Gty O a9 )) “The law
that the grieved boy after marrying the beautiful girl, is that a man whose
wife dies must be buried alive with her and that every woman whose
husband dies must be buried with him as well”’.

2) (lall (1o aglS 5 jadl SO S Ao s o Cpira (il Ao b g G5l 0 <Y
dis LS Lf Ll 038 (B 7 9 J5 o JS o Ll (g s Lo ) (B 28 _dal )
“No, this law is not applicable to certain people. Rather, it applies to all
the people of the Island, from the King to the youngest citizen, and it
also applies to anyone who gets married in this city, regardless of the
gender”.

3) ( Ay slall Llb dea [p 1 AT | puadl cund] | ) 4] iy L bga (0 4 g ila Lantie
(¢ _J/ “When his wife died, he was buried alive with her by forcibly
taking him to the pit and then they brought down with him a little water
and seven loaves”.

4) (Joslh e j B pladal] (1o dra Lo iy ¥ | is oy sl g SSY) (5 sy 4N 5LS) “The
boy restricted himself from eating and drinking so that the food would
not run out in a short time”.

5) (st i dealdif s 48l g lSal) Lallil o fysad plaicss ald dia gits Land (g]) 4]
(i Liall it g5l 0 Jisg o8 sinl] ST i i pu el o 7 s
s (bl A o] 8 dda g 34 &Ll 4d o) “He saw a ghost approaching
him, but he could not identify it due to the darkness of the place, but he
felt his breath. So, he followed him to find out where he was coming out.
He saw him sneaking out of a small port at the end of the hole. He made
every effort to expand this outlet until that was done for him, so he came
out to the seashore”.

In part (b), the candidates were able to identify the gerunds from the
passage as required like (.......6s JSY/ coiddl ¢z /o i) “marry, drink, eat
6
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Extract 1.2: A Sample of Correct Responses in Question 1

Extract

1.2 shows responses by a candidate who provided correct

answers to all the items as required.

” This suggests that the candidates had a good command
of the Arabic Language. Extract 1.2 is a sample of a candidate’s good




2.1.2 Question 2: Rules of the Arabic Grammar
This question had three parts, (a), (b) and (c). The question aimed at
testing the candidates’ ability to write and express themselves using
correct sentences of the provided Arabic Language grammar. This
question was set from the topic of grammar.

In part (a), the candidates were instructed to identify cognate accusative
with its types in the following sentences:

1) (Lea b Sl ca99) “And you love money so much”.
2) (b csbedl sl i) “The servant beat the scorpion”.

3) (wBs B 30 Cagdl) 3A)) “The fear took me and my heart was
beating fast”.

4) (sbid¥ ddue 4 la i) “My neighbour lives the life of the rich”.
5) (DL 4L Litw? <uf)) | saw a snake and killed it”.
In part (b), the candidates were required to answer the following items:

1) (Hopltha sl af Juaiall el i ) “Explain the meaning of pronoun
with two examples”.

2) (ol Uaa St Jiafy Yla cils) “Give one example of conditional
nominative sentence”.

3) (Yol dff 4 clea) 13 pa¥) Jad Ay ds) “How the command is formed
when it is connected by a dual form”.

4) (sl Uasll o culia 13) g3 s3] san) of )" deadi 1iLs) “What did the
Inna-wa-akh-watiha do in the nominative sentence?”

5) («Ley 157 4S3) “Mention types of inflection”.



In part (c), the candidates were required to identify the sign of the
inflection in the five underlined given words.

1) (draad pg polad) daws 4 Ggaduad) gaia) “Muslims are gathering in
the Mosque on Friday”.

2) (Sladuad 23! o Sl “ISlam honors Muslim women”.
3) (a¢dsad A Gopdiis o) “Students spread to their classrooms”.
4) (e L) dla) “The professor traveled to Egypt”.

5) (4iddlej e Jiad A taaf Sdas o) “Ahmed did not walk to his field with
colleagues”.

A total of 203 (78.1) candidates attempted this question. The analysis of
data on performance shows that 97 (47.8%) candidates scored from O to
5 marks, 66 (32.5%) candidates scored from 5.5 to 8.5 marks and 40
(19.7%) candidates scored from 9 to 14 marks. The general
performance in this question was average as 106 (52.2%) candidates
scored from 55 to 14 marks. The candidates’ performance is
summarised in Figure 2.

100 -
90 -
80 -
70 A
60 -
50 A
40 A 325

30 1 19.7
20 A
0 T T T
0.0-5.0 55-85 90-15.0
Scores

47.8

Percentage of Candidates

Figure 2: The Percentages of the Candidates’ Performance in Question 2
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In this question, 97 (47.8%) candidates had weak performance as they
scored from 0 to 5 marks. The analysis of candidates showed that those
candidates failed to provide correct answers in almost all the parts of
the question.

In part (a), some of the candidates managed to identify cognate
accusative in the sentences given but failed to indicate its types. Other
candidates provided incorrect responses due to lack of enough
knowledge of the cognate accusative. For instance, one of the
candidates wrote in item (1); ( 4als 40 aiy (Ga) Lals g0 (lhall Jordal
(cs9)) “the cognate accusative is a word (loving) and its type is a word
(you love)” instead of (JJedll £ &7 oo 46 #ig (Lin) LalS 0o (5lhall [sedal) “the
cognate accusative is word a (loving) and its type is to indicate the type
of verb”. In item (2) ((erd) Lals 4o oiy (Lpd) Lals g8 (ilhall [sedal) “the
cognate accusative is a word “beating” and its type is a word (beat)”
instead of (Jedlf Ao ST 4e 47y (L) Lals 4 (3lhall Jsrdal) “The cognate
accusative is “beating” and its type is to emphasize the verb”.

In part (b), the candidates were unable to provide correct answers to the
items (2) and (3) due to lack of knowledge of Arabic grammar. For
example in item (2), one of the candidates wrote a nominative sentence;
(dhwas 4éaat) “The garden is very good” instead of case in a noun
phrase (4elld (wadf]y clidil) “T woke up when the sun was up”. In item
(3), one of the candidates wrote; ( «if 4 il i) daidly Lo ja¥f S i
oY) “The command is formed by the letter “Fat-ha”, If it would be
connected by a dual form instead of ( cdail A/ sl cida Ao ¥ Jod i
Cwif¥ <dlf 4) “The command is formed by deleting the letter “Nuni”, If it
would be connected by a dual form”.

In part (c), many of these candidates failed to identify the signs of the
inflection in the five underlined words given. Hence, they named the
following types of inflection (Lu—as a2 gt coismcaio (£ 54 14)
“Nominative case, subjunctive case, imperative case and genitive case”
without identifying their inflective signs. Others provided incorrect
signs of inflection. For example, in item (2), one of the candidates
wrote a letter (4aidl) “Al-fat-ha” instead of a letter (&l “Kas-ratu”
on behalf of a letter (4<aidf) “Al-fat-ha” because it is a feminine plural

10



form. This shows that the candidates had inadequate knowledge of
inflection. Extract 2.1 is a sample of a weak response of a candidate.
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Extract 2.1: A Sample of Incorrect Responses in Question 2

Extract 2.1 shows a response of a candidate who mentioned incorrectly
types of inflection (Lsssas psjne ccisaio <£4959) “Nominative case,
subjunctive case, imperative case and genitive case” and the signs of
the inflection in all the items.

On the contrary, the candidates whose performances were average
managed to identify cognate accusative in the sentences given but they
could not identify types of cognate accusative accordingly. Moreover,
they partially explained the meaning of pronoun with two examples as
well as mentioned types of inflection. Furthermore, they managed to
identify one or two signs of inflections. These candidates scored 5.5
marks, hence attained an average performance.

11



Furthermore, the analysis shows that the candidates who performed
well in this question were 19.7 percent. These candidates were able to
identify cognate accusative and its types in the given sentences. They
explained the meaning of pronoun with two examples and provided one
example of a case of a noun phrase. They stated how the past tense
with dual form should be as well as the function of the defective verbs
in the nominative sentences. They also mentioned the types of
inflection in the Arabic Language. Additionally, they identified the
signs of the inflection in the five given underlined words. For example,
in part (a), one of the candidates provided his/her answers as follows:

1) (Sl gai G dcply (L) dals g4 (alhal Jsedal) “the cognate
accusative is word a (love) and its type is to indicate the type of
verb”

2) (Sl o sl deply (Lud) dals g4 (slhel Jsedal) “The cognate
accusative is (beat) and its type is to emphasise the verb”.

3) amll G A 5ig (<ildy) dals ga (lhal) Jgadall) “the cognate accusative is
word a (beat) and its type is to indicate frequently of verb”

4) (S g5 o 4opiy (Ade) dals 0 (jlhall Jpedal) “the cognate
accusative is word a (live) and its type is to indicate the type of
verb”

5) (il Ao aslil degiy () dals sb (ilhal) Jsrdad) “The cognate
accusative is (kill) and its type is to emphasise the verb”.

In part (c), the candidates provided correct answers as it is exemplified
below:

1) (el g i g1l 4 (Csadad)) dalst ol e YY) 4a3E) “The sign of the
word (Muslims) is a letter (Al-wawu) on behaf of a letter (dham-
ma)”.

2) (Aaddl e Ll 5 sl b (Cilalual)) 4al<t ol 2 YY) 4adle) “The sign of the

word (Muslim women) is a letter (Kas-ratu) on behalf of a letter
(Al-fat-ha)”.

12



3) (Ll oo dbed calll g (o (Cuanditly) Aals) il oY) L) “The sign of
the word (spread) is the presence of a letter (Nuni) on behalf of a
letter (dham-ma)”’.

4) (Bl oo Ll daidl) b (uas) dadsd o ¥l 4adle) “The sign of the
word (Misr) is a letter (Al-fat-ha) on behalf of a letter (Al-kas-
ratu)”.

5) (cusSedl oo Llsi ol cdida 4 (Hiay) dalS) o o ) 4adle) “The sign of the
word (Walk) is deleting a letter (11a) on behalf of a letter (sukuni)”.

This shows that the candidates had good command of the Arabic
Language grammar and enough knowledge of inflection. Extract 2.2 is a
sample of a good response.
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Extract 2.2: A Sample of Correct Responses in Question 2

Extract 2.2 shows a response from a candidate who mentioned the five
signs of inflections and identified all the types of cognate accusative in
the given sentences as required.

2.1.3 Question 3: Re-arrange words and Use the Rules
This question had three parts (a), (b) and (c). The question aimed at
testing the candidates’ ability to construct correct sentences by using
the instructions provided. The question was set from the topic of
Language use. This question carried 15 marks.

In part (a), the candidates were required to re-arrange words into
meaningful sentences in the following items.

1) (ale — gutls &) — e — slale — <ubaf) “The medical - Ibn Khaldun

scientists — is among — a scientist”.
2) (bdpe — JLud — — J&al) “Student —loves —the teacher — a

polite”.

14



3) (Cdd— My — (pSuldl — il — Jaa/g) “One — the girl — with a knife
orange — peeled”.

4) (assf— s — Ja — 4wdd) “Himself — the man — who is confident
in— | respect”.

5) (¥—4b— e — Al — (3l — 4L “Like it — habit — and come — stop

do not”.

In part (b), the candidates were required to compose five (Luaw/ <Laat)
“nominative sentences”. The first sentence has to start with: ( g
&) “Plural noun”, second sentence with: (e ~e) “Masculine in
dual form”, third sentence with: (<# 449 “Feminine in singular
form”. Fourth sentence with: (ald/ &isall za3) “Feminine in Plural
form” and fifth sentence with a noun among (4wei/ sLew) the “Asmau-
hamsa” at the beginning of sentences.

In part (c), the candidates were required to provide one example for

each sentence according to the given instructions.

1) (Ui “Disambiguation”.

2) (4ze[sedad) “Assertion”.

3) (AL 1554 “Concomitant Object”.

4) (Sudeill 2 s&v §paiaa Gl gl Jdf) “The Present Tense in the
subjunctive case with “Lamu” for justification”.

5) (cte i b “Adverb of time”.

The question was attempted by 236 (90.8%) candidates who sat for the
Examination. The performance shows that, 87 (36.9%) candidates
scored from 9 to 15 marks, 79 (33.4%) candidates scored from 5.5 to
8.5 marks and 70 (29.7%) candidates scored from O to 5 marks. The
general performance was good because 166 (70.3%) candidates scored
from 5.5 to 15 marks above average marks as illustrated in Figure 3.
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m0.0-5.0
05.5-85
m95.0-15.0

Figure 3: The Percentages of the Candidates’ Performance in Question 3

The candidates who performed well in this question re-arranged the
given words into meaningful sentences as required. For example, one of
the candidates wrote as follows:

1) («& slale o alle 9ts o)) “Ibn Khaldun is a scientist among the
medical scientists”.

2) (Ldpe Idiali oy JLind) /Ldpa Jdali dlind) cad) “The teacher loves a
polite student”.

3) (Maly YUy & udd il CpSeally /opSeally Jan) g VT p cuidl] & 448) “The girl
peeled one orange with a knife”.

4) (4wdi Wy Jasl asish “T respect the man who is confident in
himself”.

5) (4die Alig 34 oe 47 ¥) “Do not stop habit and come like it”.

This shows that the candidates were competent enough to re-arrange the
given words into meaningful sentences. They also were able to
compose five (4w’ Laal) “nominative sentences”. The first sentence
started with: (_s«sZ gas) “Plural noun”, second sentence with: ( -
44 “masculine in dual form”, third sentence with: (Gdipe 4.9
“feminine in singular form. The fourth sentence with: (alwd/ &izal/ 2an)
“feminine in Plural form” and fifth sentence with a noun among ( slew¥
4wadll) the “Asmau-hamsa” at the beginning of sentences as required.
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For instance, one of the candidates composed five (dwewd/ dlea)
“nominative sentences” correctly as follows:

1) (sl gan) “Plural noun™: (Slaied/ 4 Gy sl <Ol “Students are
ready for examination”.

2) (e i) “Masculine in dual form™: (&lwle Jllll) “The two
students are skilled”.

3) (&wipe 4444 “Feminine in singular form”: (be/ 4esds ciiuf) “The girl is
obedient to her mother.

4) (Al &ipel) gad) “Feminine in Plural form™: (<ild clalwal)
“Muslim women are obedient”.

5) (dwailf slewd)) the “Asmau-hamsa’: (le aae g) “Muhammad’s
father is skilled.

This shows that the candidates had enough knowledge of applying the
Arabic Language principles in constructing sentences.

Furthermore, those candidates provided one example for each sentence
as required. For example, one of the candidates provided his/her correct
responses as follows:

1) () “Disambiguation”: (Laef Loy < sidl) “I bought “ardaba” of
wheat.

2) (4re Jsrdalh) “Assertion”: (owedd/ g€ 9 <) “1 came while the sun is
setting”.

3) (Ad 48541 “Concomitant Object”: (ales was aa) “A teacher
attended”.

4) (Sl oY o 5pade b g olad Jedl) “The Present Tense in the
subjunctive case with “Lamu” for justification”: (gedwd <ad) “| have
to rest”.

5) (e il i) “Adverb of time”: (Labue taaa £la) “Muhammad came in
the morning.

This good performance indicates that the candidates had adequate Arabic

vocabulary and enough knowledge of the Arabic grammar. Extract 3.1 is
a sample of a candidate’s response.

17
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Extract 3.1: A Sample of Responses in Question 3

Extract 3.1 shows a response from a candidate who re-arranged the
given words into meaningful sentences as required and also composed

correctly five (4wwy/ 4leat) “nominative sentences”.

On the contrary, the candidates with average performance were able to
provide correct responses to three items in re-arranging the given words
into meaningful sentences as well as three out of items in composing

(Leawd/ Uaat) “nominative sentences”.

However, there were 70 (29.7%) candidates who had a weak
performance in this question. some of those candidates failed to re-
arrange the given words into meaningful sentences in part (a). For

18




example, one of the candidates re-arranged the words as follows: ( stee
alle e Ggli (vl bty “The medical scientists 1on Khaldun among from
a scientist” instead of (e&ll slale (o alle Jyi o)) “Ibn Khaldun is a
scientist among the medical scientists”.

In part (b), the candidates were unable to compose (4wt Llaal)
“nominative sentences”. For instance, one of the candidates wrote
his/her response as follows: 1) (4hwas 4&at) “The garden is very good”.
This candidate composed nominative sentence in singular form instead
of (s«si zaa) “Plural form”, thus scored low marks due to a poor
mastery of the Arabic Language. The correct answer was; 1) ( (&l
4La3) “The gardens are very good”.

Further analysis shows that some of the candidates provided the
responses which were not related to the demands of the question. For
example, one of the candidates wrote verbal sentences in items 2, 3 ,4
and 5 instead of nominative sentences as follows: 2) ( ¢« b sa
cpawal) instead of (cptawal (e fels B M) “Two persons came from
the two mosques”, 3) (s« A 4abld cuad) instead of (o <wed Labld
Jdsl) “Fatma went to the market”, 4) (<lalwal 23w/ 25} instead of
(lalcall 2 45T 23y “Islam honored Muslim women” and 5) ( 4 b/ <ul
Jdsd) instead of (s A 4Ll el “T saw your father at market”. This
candidate did not know that in a nominative sentence, a noun is initially
positioned in a sentence. Furthermore, a few of them left the items
unanswered due to a poor mastery of the Arabic vocabulary.

In part (c), the candidates could not provide correct examples for each
sentence accordingly due to inadequate knowledge of the Arabic rules.
For example, one of the candidates responded as follows: “1) (L)
“Disambiguation”: (/s fa /48) “This is one man” instead of ( 4wes £la
by durie g) “Twenty five men came”. 2) (4ee Jsedal) “Assertion”: ( £
4ala ro taag) “Muhammad came together with his friend” instead of
(ubally dana £l3) “Muhammad came while it was raining”. 3) ( <2
Aidlh) “Concomitant Object”: (Luat/ A (ulai gad) “We are sitting in the
garden” instead of (Flwadl Fluwalll cul)) “I saw the ‘crocodile” 4) ( Jedl
el 2 Say 5 paisa Gl £ laadl) “The Present Tense in the subjunctive
case with “Lamu” for justification”: (agelal A4 4islea)) “They put it on
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their fingers” instead of (ZLsiw/ o¥ cuads) “I sat down to rest” and 5)
(Sla il <dsB) “Adverb of time”: (LLdl Jo/ Jiutd) “Ask the people of the
village” instead of (Labue il (a JLhill Jag) “The train arrived from
the city in the morning”. Extract 3.2 is a sample of a candidate’s
responses.

ol 2

‘)j \L.ID\.'_.\TI'\ :_,lﬁ«-)l Jlﬁ_lﬁ’( ls 5ol |

1'\_.\7&1" L,“"'x_g,o o e ¥ e

METEN NN NP ERTIOIR A PN W E

p—

(o Mladlsa o asy o iall4
[w) N vy :V

, - M ] _
A '\hm A1y, s sti XS
N ==

g lLE)' 1
.
o b)io

NI NN,

- t A - - <.
ot (5104 w0503
N - N

Extract 3.2: A Sample of Incorrect Responses in Question 3

Extract 3.2 shows responses from a candidate who wrote nouns at the
beginning of each line of part (b) instead of using them to compose the
sentences.

20



2.1.4 Question 4: The Use Rules of Morphology
This question had two parts, (a) and (b). In part (a), the candidates were
instructed to respond to the given items. The question tested the
candidates’ ability to comprehend the Arabic morphology. The question
was set from the topic of morphology. The following are the five (5)
items which were given in part (a).

1) (s Laf fidalll o £laall Jadll <d £) “By giving examples, explain the
meaning of “Al-filu-al-mudhafu ™.

2) (fals 4 Aa¥ly 1l sl g8 La) “What does it means by “Har-fu
ziada and aswi-liya” in the word?

3) (SE Lo JU Jidalll ga "Jad" gl o il SH) “With examples,
mention types of “Babu faala .

4) (Selis DL cualy il saniall Jadll Sullio cild) “Give two examples of
transitive verb with three objects”.

B) (aly JO Liailf pa flad Lo Gl itas U g o Ju S0 Jedll) “provide
two examples for each gerund of the verb which indicates sound”.

In part (b), the candidates were required to identify the (= gsiaat
i al) “Al-mam nuu min alsar-fu” with reasons led that to be ( £s-asl/
i uall () “Al-mam nuu min alsar-fu” in the following sentences.

1) (dtal A as il 18 5 2aa/ i) “Ahmed and Abdulrahman traveled
to Medina”.

2) (Lsay ol A Gpadwall 2 9a) “Muslims fast Ramadhan obligatory”.

3) (e b i) Ge dhaa dite Cipapan) “Hadharamuti is a very
beautiful city among the Arabic cities”.

4) (as oAl ddlide pldi o Audll alb)) “Sheikh revises the various
translation of the holy Quran”.

5) (clul &l 4 mawd saaf alf se Gadl) <] am looking for a red pen to
correct books”.

The question was attempted by 191 (72.5%) candidates. Among them,
49 (25.7%) candidates scored from 9 to 14 marks. Also, 74 (38.7%)
candidates scored from 5.5 to 8.5 marks and 68 (35.6%) candidates
scored from 0 to 5 marks. The general performance in this question was
good as 123 (64.4%) candidates scored from 5.5 to 14 marks. The
candidates’ performance is summarised in Figure 4.
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Scores
m0.0-5.0

O05.5-8.5
m9.0-15.0

Figure 4: The Percentages of the Candidates’ Performance in Question 4

The analysis shows that 49 (25.7%) candidates who performed well in
this question explained the meaning of “Al-filu-al-mudhafu” by giving
examples. They also explained about the “Har-fu ziada and aswi-liya”
in the word and mention types of “Babu faala” with examples
correctly. Furthermore, they provided two examples of transitive verb
with three objects and two gerunds of the verb which always indicates
sound with examples as required.

In item (1) which asked; (s Lo fdalll gs £ jludrall J2dl] i 1£) “Explain
the meaning of “A/-filu-al-mudhafu” by giving examples”. One of the
candidates wrote his/her response as follows: (LS Le 44 ;cdedall Ledlf
Mg Ld s flia aa]g i o Sl g LY 49 48) “Al-filu-al-mudhafu” is one
that second (Ainu kalima) and third (lamu kalima) letter have to be the
same, for instance: the words ‘tighten and escape’.

In item (2) which asked: (4alslf 4 Awa¥s 2Ll cdall 54 L) “What does
it mean by “Har-fu ziada and aswi-liya” in the word? One of the
candidates provided his/her answers as follows; ( gL/ # 2L il
Lalslf iy i oy A 4dds raayg dall) Jgal ) cila) “Har-fu ziada” is a
letter which can be added with original letters in the word and it is
correct to omit it in the inflections of the word; for example: a word
(o) “sit” and (delslf cdijluad oLl Ly ¥ Lo s 2 a) i jal) “Har-fu
aswi-liya” is an original letter that cannot be deleted during inflections,
for example: a word (<) “drink”.
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Furthermore, these candidates managed to identify (il e £ sias)
“Al-mam nuu min alsar-fu” with reasons led that to be ((wgs-ieat
i al) “Al-mam nuu min alsar-fu”. For example, one of the candidates
wrote his/her responses in item (1), (2) and (3) respectively as follows;
(cctadl g o pln pde g drio oy o an]" LalS 6 Cd ] o £ peiaal)
i g 1 g0 e " (] W gl g Iy o piSa ale g e cisiag < Mlaa " g
A iS5 i pa ale g 42i9) “The word (Ahmad) is (el £ s-iaal)
“Al-mam nuu min alsar-fu” because it is common noun that came with
the measurement “Af-ala”, (Ramadhani) ended with two additional
letters “Alifu”and “Nuni” and (Hadharamut) is a blending common
noun”. This good performance shows that the candidates were familiar
with the morphology tested. Extract 4.1 is a sample of a candidate’s
responses.
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Extract 4.1: A Sample of Correct Responses in Question 4
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Extract 4.1 shows a candidate who provided correct responses to all the
items except one example of the gerund (=9 “Failu”.

Further analysis shows that the candidates who performed averagely
provided inadequate responses. Some of them provided two or three
correct answers in part (a). For example, one of the candidates
mentioned two gerunds of the verb which indicates sound (ckeds Jed
“Fualu” and “Failu” but failed to provide appropriate examples. Other
candidates managed to identify («isal (w £siaal) “Al-mam nuu min
alsar-fu” as (sesly puldi cpapin Gl ctasf ddpall a £ piaad)
“(Ahmad), (Ramadhani), (Tafasiru) (Hadharamut) and (Ah-maru) but
were unable to give reasons for that («ixal ( £siead) “Al-mam nuu
min alsar-fu”. This shows that these candidates understood the
requirement of the question but they had insufficient knowledge of the
Arabic morphology.

On the contrary, there were candidates who failed both to explain
meaning and give examples on “Al-filu-al-mudhafu”. Moreover, they
were unable to explain about the “Har-fu ziada and aswi-liya” in the
word and mention types of “Babu faala” with examples.

In item (1), One of the candidates in this category provided incorrect
answer as follows: ( - Skl ciel s fio Jadll covews (o3l Jodl| 98 rcdniaall Jedl)
) G by adreal) il g o) 2L 1) “Al-filu-al-mudhafu ™ is the verb
which causes the verb. For example: The child played in the home yard
and | saw the teacher is in the lesson instead of ( JLS Lo o4 sedeaal/ fedlf
g Ld s flia da)g i o Sl g ALY 44 43) “Al-filu-al-mudhafu” is one
that second (Ainu kalima) and third (lamu kalima) letter have to be the
same, for example: the words ‘tighten and escape’.

In item (2), one of the candidates wrote incorrect meaning of “Har-fu
aswi-liya” as; 2) (Jad s Ao cdn (S ol i sl 36 La¥) ijad) “Har-
fu aswi-liya” is the “har-fu” which is in the “Waznu fa-ala” instead of
(Lalsl) iyl pLiif by Y La g8 : La¥l il “Har-fu aswi-liya” is an
original letter that cannot be deleted during inflections.
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In item (3), one of the candidates mentioned irrelevant types of ‘Babu
faala” and its examples as foIIows (il =(Jdd Jd jpidy -t § =y - Jed
uw-«-r) instead of ( =fed - Jad /ids — mid =fads - Jad /o pudsi - s =(fady - Jad
al - pa)). This indicates that the candidates lacked enough knowledge
of types of “Babu faala” in the Arabic morphology.

Moreover, 68 (35.6%) candidates who had weak performance in this
question failed to identify («dxal (s £ siaad) “Al-mam nuu min alsar-fu”
as well as giving correct reasons. For example, one of the candidates
responded incorrectly as follows; item (2), the word (cusalwd)
“Muslimuna” is a (=l = £ siaal) “Al-mam nuu min alsar-fu”
because it is an object instead of the word (Jt<)) “Ramadhani”
because that ended with additional letters (cu-is <) “Alifi"and “Nuni”,
(3) the word (4es) “jamilatu” is a (el o= £ siaal) “Al-mam nuu min
alsar-fu” because it has a preposition (cu-is <) “Alifu”and “Nuni”
instead of the word (<ws~a3) (Hadharamut) because it is a blending
common noun and (4) the word (4dis) “Mukh-talifatu” is a ( g gs-iaall
i al) “Al-mam nuu min alsar-fu” because it is a gerund (=< “miy-
miyu” instead of the word (_x#«ld) “Tafasira” because it is a ( ¢ A
Es-aJ) “Sighatu mun-taha al-jumui”. This weak performance shows
that the candidates had insufficient knowledge of the topic of ( w &sieal/
i al) “Al-mam nuu min alsar-fu”. Extract 4.2 is a sample of a
candidate’s responses.

25



NETATINT

Cl ~ [
. _
-7 - o | 0 - N - ( .
de 1 sile2 g ol Leadl 33 ¢ |2 Lol
o v - o - J
— e — >
ol a8 e
=
2 - - 2
A AN = A S ) ) A LD
P l > T s
(el = loe7 - Y oladr
— 3 . — 7
' - = 9o
e L(JL]&__\’:\-)[ \_'9‘1,_31)\91 JJ/'JI 3;2( 2
- - i - R
C - f/——Q—f

NS NI YT WS YA

=) ‘
T R B BuLva
— -

2 >

. - oo A LS 5 :"_ , .
’%—L—LS - MJ'QQL'A\A{ Lea > lea | 3
C - c= B

—_ J

3, - = 9.9 (- -

S‘l/t&j,\_) = 'n:; sl (r L\«é LLDI Liq

0 o | J

IO P SEVBAE
EDIMSU&JOILLE',EL@ ;—"‘TB
T 7 { L]

Extract 4.2: A Sample of Incorrect Responses in Question 4.

Extract 4.1 shows a response from one of the candidates who wrote
(Lails olira Jow ¥ g il) i jal) g Lua¥) cdpal) “Har-fu aswi-liya” is the
“har-fu” does not change its meaning ” instead of ( ¥ Le s : Awa¥/ il
Lalsl) iy jluai gL i) “Har-fu aswi-liya™” is an original letter that
cannot be deleted during inflections.
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2.1.5 Question 5: The Use Rules of Morphology
This question had part (a) and (b). In part (a), the candidates were
required to answer the given five items of the question. The question
tested the candidates’ ability to comprehend the given morphology. The
question was set from the topic of morphology. The following are the
five (5) items which were given in part ().

1) (giel Jodl i €) “Explain the meaning of the transitive verb”.

2) (DL & e Joldl awl flas df) “How is present participle is
formed?

3) (W - paia) — Jladl — jalic) :CilalSl 038 o 53 il cdpaf g jdiu)
“Identify the extra letters from the words provided”: (Win — Fed up
with — Quake)”

4) (dga¥ il ultia ciish) “Write two examples of “Al-fiilu aj-wafu”.

5) (s Lo JSI Jha £7feli" Juas g4 Lo) “With giving examples, what is a
verbal noun of “Fa-ala?”

In part (b), the candidates were required to give past participle of the
given verbs. The question was:

(led—adic — gl gaw— ild — & 0¥ Jad¥) o6 (o Jad JSI fsrdad] anl cild
I — ) — g ALl — a1d ) “Give past participle for each verb from the
following verbs; “Invade- fear- hear- sell- glorify - call- precede- pull
out- rise- repel”.

The question was attempted by 249 (95.8%) candidates. Out of which,
103 (41.4%) candidates scored from 9 to 15 marks, 84 (33.7%)
candidates scored from 5.5 to 8.5 marks and 62 (24.9%) candidates
scored from 0 to 5 marks. The general performance in this question was
good as 187 (75.1%) candidates scored from 5.5 to 15 marks, as
summarised in Figure 5.
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Figure 5: The Percentages of the Candidates’ Performance in Question 5

The data show that majority of the candidates 187 (75.1%) performed
well in this question. These candidates managed to explain the meaning
of the transitive verb, formulate present participle, identify the extra
letters from the words provided, give two examples of “Al-fiilu ajwaf”
and provide example of a verbal noun of “Fa-ala”.

One of the candidates in this category provided correct answers as
follows: “1) (4 Jseda A gling 4l Jedll g8 saeiall Jedl)) “A transitive verb
is a verb which needs the object”. 2) “( Sl O 8 (o Jolil) acl Ly
o AT i fa puSy dagaiaa Lasa de jlaall <d s3) “Present participle is formed
by changing the sign («i=) “Har-fu” of the Present Tense into “Miman
madh-muman” and set by vowel (i) “Kas-ra” before the last letter
of the verb. 3) “( cueadly d¥) — spaiis) rcilalSll 08 o 53 3 cipa] g el
(#L1) — JALiE — (sl YY) — pala] — (5l ills Al — Jladi — (LNL5) “The
extra letters are (Alifu, sini and tau), (alifu and zayu), (alifu and nuni)
and (Tau) for the words (Win — Fed up with — assemble — Quake)
respectively.” 4) (el dof U (o odealil aleall S (T :cdga¥) Jadll cultiad))
“Two examples of “Al-fiilu aj-wafu” a) The teacher talked to his student
and b) Your father bought a fish and 5) ( Jad o/ delia g4 " feli” jsae
Jd gf Aliha - Jild : Jis) “the verbal noun of (Fa-ala) is a (Mufa-ala) or
(Fialu) for instance: (Qatala) “Fight” = (Mugatalata) or (Qitalu)
“Fighting”.
28



They also managed to give past participles of the verbs provided as
required. For example, one of the candidates provided past participles
of (L)~ ~g Al —ptd —Lea_abic _pli—gaw—cils —| &) “Invade, fear,
hear, buy, glory, call, advance, extract, rise and reply” as follows:
(Ao — 2T p0 7 Aliis — o gtlo — gote — alita — fuia— £ gpacis -ciigs -5 i)
“be invaded, be fearful, be heard, be sold, be gloried , be called, be
advanced, be extracted, be raised and be replied”. This shows that the
candidates had adequate knowledge on morphology. Extract 5.1 is a
sample of good responses.
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Extract 5.1: A Sample of Correct Responses in Question 5

Extract 5.1: shows responses from a candidate who provided correct
responses to all the items as required.
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On the contrary, 84 (33.7%) candidates who had an average
performance were able to identify the extra letters from the given
words, provided two examples of “Al-fiilu ajwaf”. They also managed
to give some past participles of the given verbs but they failed to
provide past participles of the following given verbs (&4 — b — <la).
One of the candidates wrote (&= — st —ca¢9) Which were incorrect.
The correct responses were; (54 — gwa — c¢9) “be fearful, be sold and
be called”, because these are among the “Al-fiilu aj-wafu”. This shows
that those candidates had insufficient knowledge of past participles of
Arabic.

Further analysis shows that, 62 (24.9%) candidates had a weak
performance in this question. Those candidates were unable to explain
the meaning of the transitive verb. They did not know how to form
present participle and to identify the extra letters from the words
provided. Moreover, they were unable to provide two examples of “Al-
fiillu ajwaf” and they failed to give example of a verbal noun of “Fa-
ala”.

In part (a), for example, one of the candidates responded incorrectly as
follows: “1) (deff cda ciuals ¥ odl Jad gb oamiall Jedl)) “A transitive verb
is a verb that cannot be transformed through exceptional letters”, 2)
(AY s JF iV DU 8 e Jeldll awl flai) “Present participle is
formed by vowel (Alifu) before the last letter of the verb”, 4) ( cwlial/
Lallll (g - paSyy Lo ] 2 b ga¥) Jadl) “Two examples of “Al-fiilu aj-
wafu”: a) He prayed to our God and b) The students saw and 5) ( «ae
dlaa s fia Joliag cigpda sfia Jsedo g4 " Jeli™) “the verbal noun of “Fa-
ala is a (maf-ulu) for instance: (madh-hubu) and (mafailu) for instance:
(majalisu) instead of “1) (4 Jsede N gling (odlf Jedl) g8 (gteiall Jadl) “A
transitive verb is a verb which needs the object”. “( s (w Jold awl flucay
o A i Ja S g dagaiaa Lawa de jliaall i a JIAl AN “Present participle
is formed by changing the sign (Har-fu) of the Present Tense into
“Miman madh-muman” and set by vowel (Kasra) before the last letter
of the verb”. 4) (dewl o £l (0 odsalil aleal) S (7 rdga ¥ Jadll Gultial))
“Two examples of “Al-fiilu aj-wafu” a) The teacher talked to his student
and b) Your father bought a fish and 5) ( Jad o/ delia g " feli” juae
Jd gf AULilda - Sild : Sid) “the verbal noun of (Fa-ala) is a (Mufa-ala) or
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(Fialu) for instance: (Qatala) “Fight” = (Mugatalata) or (Qitalu)
“Fighting”.

In part (b), the candidates also failed to give examples of past
participles of the given verbs as required. For example, one of the
candidates wrote incorrect responses as follows; (gt — 44its — Lit€). This
candidate provided active participles instead of the past participles of
the given verbs (£&y—<le — Li#) “Invade — fear — buy”. The correct
answers were supposed to be (&« - e+ -5 %9 “be invaded, be sold, be
called”. Extract 5.2 is a sample of a candidate’s responses.
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Extract 5.2: A Sample of Incorrect Responses in Question 5

Extract 5.2 shows responses from a candidate who composed the
sentences using the given verbs instead giving the past participles.
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2.2 Section 2: Essay Type Questions
This section had three questions which were 6, 7 and 8. Both, questions 6 and
7 which dealt on essay writing while question 8 was on letter writing. Each
question carried twenty (20) marks.

2.2.1 Question 6: Essay Writing
In this question, the candidates were required to write an essay on the
benefits of exercises in the human body which should not exceed 200
words. The question aimed at assessing the candidates’ ability to
express themselves in Arabic. The question was set from the topic of
composition.

Data analysis shows that 200 (76.9) candidates attempted this question.
Among them, 120 (60.0%) candidates scored from 0 to 6.5 marks. Also,
70 (35.0%) candidates scored from 7 to 11.5 marks while 10 (5.0%)
candidates scored from 12 to 16 marks. The general performance of this
question was average as 80 (40.0%) candidates scored from 7 to 16
marks. Figure 6 summarises the performance of question 6.

5.0%

Scores
m0.0-6.5

07.0-11.5
m12.0-20.0

Figure 6: The Percentages of the Candidates’ Performance in Question 6

Data analysis shows that 120 (60.0%) of the candidates who attempted
this question had a weak performance. Most of these candidates
provided insufficient and unclear explanations. Furthermore, some of
the candidates repeated their answers. Additionally, their responses had
a lot of spelling mistakes. A few of them copied some sentences from
questions and used them as the answers. For example, one of the
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candidates wrote this introduction ( cud ¥ awa ¥ agiy ol (oudll 98 (oL
Eluall Las & sal)) “The sport is the thing which between the body and no
covid 19 like headache”. Among the benefits of exercises in the human
body is, and provided his/her points as follows: ( s 4 Ll uff Ll 4d ¢ 9/
a8 Y 40 o)), First, the benefits of exercises in the human
body is no covid 19 frequently and ( s olewiy/ awa 4 Ll ) 27/ g8 o ALl
(Ldorall 4 Jlall sl second point, the benefits of exercises in the
human body is means of money in the life”.

This candidate understood the question but lacked the ability to express
in Arabic. This led him/her to score low marks. This indicates that the
candidates had inadequate vocabulary and a poor mastery of the Arabic.
Extract 6.1 is a sample of a weak response from one of the candidates.
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Extract 6.1: A Sample of Incorrect Responses in Question 6
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Extract 6.1 shows from responses from a candidate who made so many
repetitions and its explanations had a lot of grammatical and spelling
mistakes.

On the contrary, 70 (35%) candidates who had an average performance
managed to answer the question but their explanation were insufficient
and incoherent. Besides, their responses had repetition, grammatical
and spelling mistakes. This shows that these candidates had insufficient
vocabulary in the Arabic Language.

Conversely, there were few 10 (5%) candidates who scored high marks
in this question. These candidates explained the benefits of exercises in
the human body. They also wrote the statement provided in not less
than 200 words. Furthermore, they wrote the introduction, main body
and conclusion in a good logical flow. Hence, they scored high marks.
For example, one of the candidates mentioned and explained the
benefits of exercises in the human body as: ( awa 4 bl Lilsd e
leo pcd] g Jind) Ldii « ) pa¥) (po peiad cclidand] 5 987 lgif Gleai¥) “Among the
benefits of exercises in the human body is to strengthen muscles, to
prevent diseases, to refresh the mind and the body”. This suggests that
those candidates had sufficient vocabulary and good command in the
Arabic Language. Extract 6.2 is a sample of a candidate who responded
well.

34



L Al \t_."u,.\l

\;ubgf;.\«tu_? 3Ll hofigs

(@J’J\-—‘.? l\_:ﬁ fa_@'z’ Qo/u: L .\MJ I\;:'J! L:«.LL\'\ (_sH "l«b\._:_,.h

. . (=9 o 1.
UuU’:&ﬁMS\ﬂ?L{M’&L@_’FJLDMGULA—?Aq:(DU'J\;...

A
A Q—T)l\dtzi IWJrnKﬂﬁ.‘\\ ﬂp’g'f]'r\kiﬁl v“ I'NLL\'H\ f‘oﬂl-h
= PP ==

7 = =Ry

dj‘&é dﬁu\ﬂﬂf:ﬁ }Ll;-):éd\qjq Ldujid_ﬂfb '\léfntiluu
-~ I \..’J . - \‘.'l g

3 - ; o’

1\3\2![5’:4\ 1'1L111l"\ulnvml’:9‘qgh\ 2 J'Idj'rAJ Cad .-{)
~ £ '[ D [

=
-

. — o I
(.T\.\jf l"\ll.uli y? N ’.'... U's M’ rn\j—ﬂ) LA QQf

£ ~ =

;p‘w(\,a-\? fﬂ%ac\laﬁjﬁﬂ-@_ﬁ‘_‘, QXJ 'q..bL_ngn'La-i:s

PN
\{ e A

) e W s ¢ ,
RYVNS DY L I 07 YT I PR S TIY 1 PRE PP\ 1 W
T ’e —7 o — e L) Yt ,,u._\.:'

s ;'1\4,.'152!;3-wt>| 25 L‘MX)! d.;!y Aad ‘e

'

£ H 1 .t G
Wiy gatotoda Ll 50 U

Lgeas2> '\354'5142»\3‘)\1 @L}sjq,}_ it do 1 Sia

LI —

. b i\‘.ﬂ l")__}a)‘ L_.J-(:{u ?'&ub\g_/\)‘l':\t (2 ;;o\zi .'p\a\\m

ii[ PPTLIAY Q&a o 1'\\AJJ'JQ_L
) L = |

o ! AR ] £
-L.«.O‘\f\_{is T q\-u-'l?hgr..h1m\21{ '3@
=N . o " R T

35




rpdjmbb VRV T CR B TRAEA L0
re — Y 5 ~ ~ 3

s 8009 9\2."9«&“!('«\. .5'("JEL1’14-§_);L;:1: J1 98 a0
- = = - L S =
» h -

= =

A5y e 8ol Vet > lan b Tl e
K ~— £ ~ Ly oo —— =

L&)Afg}'zbrm:-_g 19,9 >900¢5 85 0U219 Yuu=g

[
d\o el e v aados J%.ab,u&, a
— - = * _J, A L ——

A
‘1'.[4;1352,9,..—4-«_':-.13‘23LQ1 .:f'S.'}- A3y 1
7] O - |-

LL.LC'\JJW %qJA;lHq{_? L_‘J\u_-‘:)gh'ﬂ‘(_:bd%.). fk;.ﬁ fa]

J Qg-i}_g ’Mbﬁﬂgﬁe’ﬁ;h Cceu) Lin CISITCE DRY-L

L Ueaindie (542U )

‘s, .k o ,
UJ!%) {;mo\rlﬁ\.&)'l :’AM_A_!\_@JMJJ ’..\;;.mU!

Lo 65 UalL Mk PECHIIvN oLt 4ol W

r'd . e s
'T“AIHS,)QQ_AQSI.‘SJ“'\ M:u(’a Jlgt-\(’,&d \{r.‘\\AEJ,‘.'.;
o= =4 . —— - o e

=

esdiall i eleal s o st

s

Q..A'Ug.ihé lgg{‘\," = E',‘;QQ!Q.UﬁLr‘_ﬁ L}"—<§P‘) mﬁlﬁ

: T =
. l:}\uj'\anHJ]}ls P JJ;}AELAS\A')Q ast .04
| PRI e 5 9~ A e B

Extract 6.2: A Sample of Correct Responses in Question 6

Extract 6.2 shows responses from a candidate who wrote main body
and conclusion in a good logical flow.
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2.2.2 Question 7: Essay Writing
In this question, the candidates were required to write an essay about
the impact of security and stability in life which should not exceed 200
words. The question aimed at assessing the candidates’ ability to
express themselves in the Arabic. The question was set from the topic
of composition.

A total of 52 (20.0%) candidates attempted this question. Data analysis
shows that, 44 (84.6%) candidates scored from 0 to 6.5 marks, 5 (9.6%)
candidates scored from 7.0 to 11.0 marks and 3 (5.8%) candidates
scored from 12.5 to 16.5 marks. The overall performance in this
question was weak since 84.6 per cent scored from average and/or
above. The data are illustrated in Figure 7.

Scores

m0.0-65
o7.0-11.5
m12.0-20.0

Figure 7: The Percentages of the Candidates’ Performance in Question 7

The analysis shows that, 44 (84.6%) candidates who attempted this
question had a weak performance. Most of these candidates provided
insufficient and vague explanations. Furthermore, their responses had a
lot of spelling and grammatical mistakes. Some of them provided
responses which were unrelated to the demands of the question. This is
may be attributed to poor mastery of Arabic Language.

For example, one of the candidates responded incorrectly as follows:

(A Sy (o) S So¥ Sbad) 8 S pdia ¥ (il csesy L] g 0¥ S

il Jgag Y&S‘gbqlgﬁ'm&a i caled) ¥ Glaar 99 Y L laS alle)) giaa

il Glewddy) <l sl 4, meaning “the effect of security and stability in
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life cause people to not be cohesive between them in life for the sake of
spreading security and stability all over the world as follows: There is
no honesty, education, love, right and led the people to misunderstand
and die”. This candidate wrote an essay on the impact of insecurity and
stability in life instead of the impact of security and stability in life.
Besides, their explanation had a lot of grammatical mistakes. For
instance: he/she wrote (& ¥ “no polytheist instead of (4 <lLis (wd)
“there is no relationship”. Therefore, this grammatical mistake changed
the intended meaning. Extract 7.1 is a sample of a response of a
candidate.
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Extract 7.1: A Sample of Weak Responses in Question 7

Extract 7.1 shows responses from a candidate who wrote insufficient
and unclear explanation due to a poor mastery of Arabic Language.
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Further analysis shows that 5 (9.6%) candidates performed moderately.
These candidates were able to explain partially on the impact of
security and stability in life. Some of them provided insufficient
explanations. Additionally, their explanations had some grammatical
and spelling mistakes.

On the contrary, there were few 3 (5.8%) candidates who had a good
performance. These candidates explained the impact of security and
stability in life which did not exceed 200 words. Furthermore, they
wrote the introduction, main body and conclusion in a good logical
flow. As a result, they scored high marks. For example, one of the
candidates provided correct responses as follows: ( = 4adeall Sa 98 1a¥
¥ sl Lo lala] g Lilald] g ¢ Lualsns b oLy gulal] e 98 ) jiaay] g (pulil] Lidoa
chdlanally pdy 1) g LS (ulldl] Gy g a2 by LaS 580 Saad) L LY g
o beg Eon il G i) £ 9y A9 9 «JELLD Lia JS 58 SuaBY) 3w UY) 520
... agilSlina o Ahidlaally el agae)) “Security is the state of safety in
people’s life and stability is the absence of noise politically,
economically and socially. So the effect of security and stability in life
can be as follows: lack of fear among people where everyone feels
happy, increasing production in economy because we all work, there is
a human spirit among people where they help each other and preserving
their property....... ”. This suggests that the candidate had good
command of Arabic. Extract 7.2 is a sample of a candidate who
responded well.
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Extract 7.2: A Sample of Correct Responses in Question 7

Extract 7.2 shows responses from a candidate who explained the impact
of security and stability in life.
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2.2.3 Question 8: Letter Writing
In this question, the candidates were required to write a formal letter to
the dean of the College of Education in Dar es Salaam requesting
admission to the College of Education. The question aimed at testing
the ability of candidates to write formal letters. Moreover, the question
aimed at assessing the candidates’ ability to express themselves in the
Arabic. The question was set from the topic of letter writing.

The question was attempted by 255 (98.1%) candidates. Among them,
61 (23.9%) candidates scored from 12 to 16 marks. Furthermore, 125
(49.0%) candidates scored from 7 to 11.5 marks while only 69 (27.1%)
candidates scored from 2 to 6.5 marks. The candidates’ general
performance in this question was good because 186 (72.9%) candidates
scored from 7 to 16 marks. Figure 8 summarises the candidates’
performance in question 8.

100 -
90 |
80
70
60 1 49.0
50 |
40
30 | 27.1 230

v N B

0.0-6.5 7.0-11.5 12.0 - 20.0
Scores

Percentage of Candidates

Figure 8: The Percentages of the Candidates’ Performance in Question 8

The analysis shows that, 61 (23.9%) performed well in this question.
The candidate wrote good letters. They adhered to the principles of
writing formal letter. They correctly wrote and positioned the address,
salutation, main body and a conclusion. They also managed to write a
formal letter to the dean of the College of Education in Dar es Salaam
requesting admission to the College of Education in a good logical
flow. This implies that the candidates were competent in the Arabic.
Extract 8.1 is a sample of a candidate’s response.
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Extract 8.1: A Sample of Correct Responses in Question 8
Extract 8.1 shows responses from a candidate who wrote a formal letter

correctly in a good logical flow and adhered to the principles of formal
letter writing as required.
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Further analysis shows that, 125 (49%) candidates who scored average
marks adhered to the principles of formal letter writing. They correctly
wrote the address, greetings, main body and a conclusion. They also
managed to write a formal letter to the dean of the College of Education
in Dar es Salaam requesting admission to the College of Education.
However, the letters written were not in good logical flow. Also, they
had grammatical and spelling mistakes. Hence, they were moderately
awarded and performed averagely.

However, there were 69 (27.1%) candidates who performed weakly in
this question. Most of them had inability to express themselves by using
the Arabic Language. For example, one of the candidates wrote; ( «ite
Bl 158 Jis O 93 L9 p ] j1 (B Aoy jil) Al GLaTSY s cullyy o L ) 530
£ “The purpose of this letter is to ask him to join the college of
Education in Dar es Salaam. | hope that this my request will get. Thank
you”. This candidate used the same words given in a question.
Moreover, he/she used the third person singular pronoun instead of
second person singular pronoun. The expected responses were; ( it/
1 e gl g2 )5 p3leal) 13 (8 Lt ) AU FLALY) cills 30 Ulea flf 518 s
&l | £, ~B) “The purpose of this letter is to request for the admission
to join at the College of Education in Dar es Salaam. | hope that my
request will be accepted. Thank you”.

Some of the candidates provided the explanations which were not
related to the demands of the question. For example, one of the
candidates explained about education instead of writing to the Dean of
the College of Education in Dar es Salaam requesting admission to the
College of Education as follows: ( &eidll o¥ ganall 4 Jrand (i A Lo il
L il LS Laity) JLib¥ ate)) “Education is something good in the
society because it educate children to join to the College of Education”.

Other candidates did not adhere to the principles of formal letter
writing. For example, one of the candidates wrote as follows; ( 2t/
hran e o g o ) peabiiy Ladld]y Ldle ) £ 8 S g ) Las g aSile
AT ad 2 SLEl] g1 8 Ay il Al & il Ay ) 038 A £ g gl Lol dadl g Lidle g
Olmadly slisal gian g ~of (A flig olaial ) “Assalama Alaykum, 1 am
happy that I am well and safe, and we hope that the Almighty makes us
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well and safe. As for the topic in this letter, it tells you that the College
of Education in Dar es Salaam did not take an examination. Inform my
mother and all friends and neighbours”. Furthermore, their responses
had a lot of grammatical and spelling mistakes. Extract 8.2 is a sample
of a weak response of a candidate.
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Extract 8.2: A Sample of Weak Responses in Question 8

Extract 8.2 shows responses from a candidate who wrote the address,
salutation, main body and a conclusion but was unable to provide
appropriate explanations to the main idea of the letter.
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3.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 2

3.1 Section 1: Short Answer Questions
This section had five questions and the candidates were required to attempt
only four questions. Each question carried fifteen (15) marks.

3.1.1 Question 1: The Eloquence and Rhetoric
This question had two parts, (a) and (b). The question aimed at
assessing the candidates’ ability to understand the concepts of (4E34)
“Al-balagha” and (4stadf) “Al-fasha” in rhetoric. The question was set
from the topic of rhetoric.

In part (a), the candidates were required to answer the following five

items given;

1) Explain the meaning of (4aladf) “Al-fasaha” in a language and in
linguistics.

2) What does it mean by (Lda/ 4sLad “Fasahatu muf-radu ”?

3) How many types of (<L) “Al-gharaba”? Mention them.

4) When (22 “Al-kalamu” is called (daladf) “Al-fasaha”.

5) What is (al<ial 4€30) “Al-balaghatu al-mutakal-limu”.

In part (b), they were required to identify the faults that disturb ( 4atwad

4al<) “Fasahatul-kalimati” or (a2<f) Al-kalamu in the given sentences:

1) (w98 gl ¥l Siag ¥g # s 38 odl ¥ a e 29 “Fala yub-ramu al-
amru al-ladhi huwa halilu * wala yuhali-lu al-amru al-dhi huwa
yub-rimu”.

2) (Ulaiw s az LaS Jod G g # 418 58 LN L 0 4 (5 ) “Jaza banuhu aba
al-ghailani an-kibari * wahusni faala kama yujza sinnimari”.

3) (Ul € lgids o€ Wel) *0ds S s 4 AN A5 i) “Kayfa tarthi al-
lati kula jafni * ra-aha ghairu jafniha ghairu raqi”.

4) (Jstws v e g9 A #alad o U Y ) “Laysa il-laka ya alaya
hamam * sayfuhu duna ar-dhihi mas-/uli .

5) (leall gaaal slie oSy *[g il alie ol sy culbla)  “Saat-lubu
buuda ddari an-kum litukaribu * wataskubu aynaya ddumua
litajmuda ™.
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This question was attempted by 219 (84.2%) candidates. Among them,
13 (5.9%) candidates scored from 9 to 13 marks. The other 78 (35.7%)
candidates scored from 5.5 to 8.5 marks and 128 (58.4%) candidates
scored from O to 5 marks. The overall candidates’ performance in the
question is average as summarised in Figure 9.

m0.0-5.0
05.5-8.5
m9.0-15.0

Figure 9: The Percentages of the Candidates’ Performance in Question 1

The candidates with weak performance were 128 (58.4%). They were
unable to explain the meaning of (4atadl) “Al-fasaha” in a language
and in linguistics, the intended meaning of (Lsdel 4alad “Fasahatu
muf-radu”?, mention types of (&Ll “Al-gharaba”, explain when
(22 “Al-kalamu” is called (4atadl) “Al-fasaha” and explain the
meaning of (al<iaf 4€30) “Al-balaghatu al-mutakal-limu”. Most of the
candidates failed to provide correct answers particularly in item (1-3).

In item (1), for instance, one of the candidates responded incorrectly as
follows; ( 4alsly @USh 4 iy b baly bl b il 4 daladl
(535 “The meaning of word (4aladl “Al-fasaha” in a language is a
reality and in linguistics it is a description in speech, word and speaker.
Another one wrote; ( dsea oty slale lpadg (wbida b Aillf 4 daladll
plebl ) Gl b baly Surd rad) the meaning of (‘ZALA‘JI) “Al-
fasaha” in the language is a scale developed by scientists of literature to
find out the specific meaning and in linguistics it is an invitation to
meal. The correct responses were supposed to be as follows; ( :4atady
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et Lals 1Ll o el o8 gl Al U Lo o plly yaghillg ol AiL
A Blial) 5 a Ll Ll B oo 5 e 48 molbaY) A Ll | gbily Gl LaLina
£l il g QlSH G Jarias) L gilal] g agdf). “The meaning of word (4aladl)
“Al-fasaha” in language is clarity. For example, “And my brother
Haruna is more eloquent than me”, the words “more eloquent” means
“clear” or “obvious”. In the linguistics, the meaning of word (4at<ad)
“Al-fasaha” is the clear and apparent words that lead to understand and
popular used by writers and poets”.

In item (2), for example, one of the candidates provided incorrect
responses as follows; ( f Luall Lalsll J&/gf s 98 2 dal) dalads Jpaiall
w4l “the intended meaning of (Lde! alad “Fasahatu muf-radu’” is
to adjust the end of the Arabic word in the sentence”. Another one
wrote that; ( 4 JS& af A cigal) par JSdT g8 4 dal) dalads Jgualal
i_Lat) “the intended meaning of (L dalad “Fasahatu muf-radu” is
to form some letters that were not formed in the phrase”. The correct
response was expected to be; ( s/l Lalsl ad g8 Ldall dalads Jpaial
dalslf dalads J35 AN Ay ¥ cigall 5€). “the intended meaning of ( 4alad
L) “Fasahatu muf-radu” is the abstraction of one word from the
four defectives that disturb the eloquence of the word”.

In item, (3), one of the candidates wrote the answers as follows; ( a«dd
Liginally LBl L &l fonad A ol dl) (LA “Al-gharaba” is divided
into two parts; literal and mental (4.4 “Al-gharaba”. Another one
responded as (saslly sl Jof topacd A LAY awdi) (LA “Al-
gharaba” is divided into two parts; Bedouin and urban people”. The
correct answer was supposed to be; ( 5xs e Lo -/ (opacd A L il acdii
il auli N pliad Ui cly Lo - dalsl) 4 Jpaiall Lol agd S goleddl
Ushall il e (wals8 A Sidil §489), “(LLaM) “Al-gharaba” is divided
into two parts; a) It causes the listener to be confused in understanding
the intended meaning of the word and b) It causes defect in its use due
to the need to track languages and the frequent search in language
dictionaries”.
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They also failed to identify the faults that disturb (delsf 4alad)
“Fasahatul-kalimati ” or (22&) Al-kalamu in the sentences given. Some
of them provided irrelevant responses. Others did not identify faults in
the given sentences, and instead they pointed out the whole sentence.
For example, one of the candidates identified as follows:

1)

2)

3)

4)

5)

1)

2)

(a3 g3 o) Jay Y9 #Mls 98 odll sa¥) apw M) “Fala yub-ramu
al-amru al-ladhi huwa halilu * wala yuhali-lu al-amru al-dhi huwa
yub-rimu” is a (Jeeiud! L £) “Al-gharabatul istiimali”.

(baiw 5 jny LaS Jod s g # 8 8 LN Lf 0 440 5 ja) “Jaza banuhu aba
al-ghailani an-kibari * wahusni faala kama yujza sinnimari” is a
(wlilay) ali) “Tatabui idhafati”.

(Gl & Wdis o8 Lel) *oda S o 5 A A4 <9 “Kayfa tarthi al-
lati kula jafni * ra-aha ghairu jafiiha ghairu raqi” is a (/i cied)
“Dhafu taalifi”.

(st 48 (g9 A #alad Ao b ¥ e “Laysa il-laka ya alaya
hamam * sayfuhu duna ar-dhihi mas-luli” is a (wbdl 4itia)
“Muhalafatu al-giyasi”.

(Raall fpaatl slie cSufy #| g dif aSie Juff s culbls)  “Sgat-lubu
baada ddari an-kum litukaribu * wataskubu aynaya ddumua
litajmuda” is a (bl 4ifie) “Muhalafatu al-giyasi” which were
incorrect.

The correct answers were supposed to be as follows:

(psr 98 s sa¥) Jlag Y9 #Ma 98 il ¥l 2 MY “Fala yub-ramu al-
amru al-ladhi huwa halilu * wala yuhali-lu al-amru al-dhi huwa
yub-rimu”, the fault of this sentence is a (ki 4ilie) “Al-
gharabatul istiimali” in the words (Jaxs Jts) “Halilu” and
“yuhalilu” where the letter (22) “lamu” was broken down into
pieces instead of merging (daxs J) “Halu” and “yuhalu”.

(laiw 5 jay LaS Jod s g * S 8 O0LtN) Uf 0 340 5 J2) “Jaza banuhu aba
al-ghailani an-kibari * wahusni faala kama yujza sinnimari” the
fault of this sentence is a (<& <éed) “Dhafu taalifi” where “the
pronoun in a word (28 “Banuhu” refers to the word (cobdl L)
“Abal-ghailani” which came later.
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3) (Jl w8 lglds o8 logl, #ods JS o i AN A5 49 “Kayfa tarthi al-
lati kula jafni * ra-aha ghairu jafniha ghairu raqi” the fault of this
sentence is a (<l dLs) “Tanafuru kalimati” where there is a letter
(#/4) “Al-rau” in the words that has been repeated several times
and caused the difficulty in pronouncing them.

4) (dsbas 4l g s #alad o b SY) ) “Laysa il-laka ya alaya
hamam * sayfuhu duna ar-dhihi mas-/u/i” the fault of this sentence
is a (2 céed) “Dhafu taalifi” where the connecting pronoun (&)
“Ka” was put after a word (%) “Except” instead of the
disconnecting pronoun (<& “I-yyaka”

5) (Jeadl faand slie cuSuly #/gdif alie il toy culbll)  “Saat-lubu
buuda ddari an-kum litukaribu * wataskubu aynaya ddumua
litajmuda” the fault of this sentence is a (gsirel Ldeil) “Taaqgidu
maanawiyyi” where the rigidity of the eye was a metaphor for joy
and pleasure near his loved one instead of not crying when sad.

This weak performance shows that the candidates had insufficient

knowledge of “Al-balagha” and “A/-fasaha” in the Arabic Language.
Extract 9.1 is a sample of a candidate’s responses.

49



ez G 48123l (1

EAVR {n%idx IG5 Ml

-

RN (jJL"’}& > oMol o, 2guzio B[

o OV e i oll(s
(&3 l Ju LS

U ol

1
:‘)L:“,b\l r:/&\!j

BTN ER PR (F\(m s

435005 CMJ;&JJ 4e N 9a \,Q&U 4% ) (s

6L A0 kel e Lot i sl

AT

s o A

‘;xlxingwuggx

%rWLiJl AL

LAQa X
%

& )

T = E) x A
wﬂ {J) nayu [5
- e

Extract 9.1: A Sample of Incorrect Responses in Question 1

Extract 9.1 shows responses from a candidate who copied words from
the question (4elsf 4alad “Fasahatul-kalima” or (a2 4alad)

“Fasahatul-kalimati” instead of identifying faults in the sentences.

There were other candidates who scored average marks. These
candidates were able to provide correct answers to the two items
particularly in item (5) of part (a). In part (b), many of them managed to
provide partial responses which led them to be awarded average marks.
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However, there were 13 (5.9%) candidates who performed well in this
question. These candidates were able to explain the meaning of
(dslaif) “Al-fasaha” in a language and in linguistics. They also
managed to explain the correct intended meaning of (Lsaf 4alad)
“Fasahatu muf-radu” and mentioned correctly types of (L&) “Al-
gharaba”. Moreover, they were able to explain when (22 “Al-
kalamu” is called (daladl) “Al-fasaha” and the meaning of (al<ialf 4€30)
“Al-balaghatu al-mutakal-limu”. Furthermore, they were able to
identify the faults that disturb (<afsf 4alad “Fasahatul-kalima” or
(22 dalad) “Fasahatul-kalimati” as required. This good performance
shows that the candidates had sufficient knowledge of metaphor.
Extract 9.2 is a sample of good responses of a candidate.
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Extract 9.2: A Sample of Correct Responses in Question 1

Extract 9.2 shows responses from a candidate who identified correctly
the faults that disturb (<elsl 4alad “Fasahatul-kalima” or (< 4aLzd)
“Fasahatul-kalimati”.
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3.1.2 Question 2: Metaphor and Metonymy
This question had three parts, (a), (b) and (c). The question aimed at
assessing the candidates’ ability to understand the concepts of ( _itas//
Lushy) “Al-majazi” and “Al-kinaya” in rhetoric. The question was set
from the topic of rhetoric.

In part (a), the candidates were required to compose five sentences;
three of them with (=& £L&¥) “In-shau- talabiyu” and two of them
with (bl € £LLY) “In-shau-ghairu-talabiyu”.

In part (b), they were required to clarify each adjective of (&LL< “A/-
kinaya” from the following given (<&l “A/-kinayati.

1) (L&l asd) “Someone sleeps too much in the afternoon”.

2) (okae o2 AN “Someone threw his stick”.

3) (cwisl 4acli ) “She has a soft palm of hand”.

4) (w2l g4 “Someone knocked his tooth”.

5) (ol 4 i) “Everyone is pointing fingers at him”.

In part (c), they were required to identify all (Jwsel Jlasl) “4l-majazi

mur-sali” and its (4)) “Al-alaga” in the following given sentences.

1) (& Le ) “We took care of the rain”.

2) (gl alof 4ials 4 jall &) “The minister talked his word to the
crowd”.

3) (Lusredd Ly all dlaa 5 il ) oS “Ibnu Bans lived in the Kingdom
of Saudi Arabia”.

4) (ai A LY o) “The righteous are in felicity”.

5) (slawey Labua peadll Gbgll 1is Jaof JST) “The people of the homeland eat
wheat in morning and evening”.

This question was attempted by 128 (49.2%) candidates. Their
performance was weak as 98 (76.6%) candidates scored from 0 to 5
marks. Additionally, 28 (21.8%) candidates scored from 5.5 to 8 marks
and 2 (1.6%) scored 9.5 marks. The overall candidates’ performance in
the question is weak as summarised in Figure 10.
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Figure 10: The Percentages of the Candidates’ Performance in Question 2

Data analysis shows that 98 (76.6%) candidates who attempted this
question had weak performance. These candidates were unable to
compose five sentences; three of them with (=& £L&¥) “In-shau-
talabiyu” as well as two of them with (&) & sLdi¥) “In-shau-
ghairu-talabiyu, clarify each adjective of (<L) “A/-kinaya” from the
given («<blsh) “Al-kinayati and find out all (Jusl laal) “Al-majazi
mur-sali” and its () “Al-alaga” in the sentences given. Most of
those candidates skipped both parts (a) and (b). However, there were
some candidates who attempted to respond all the parts of the question
but their responses were incorrect.

In part (a), for example, one of the candidates provided incorrect
responses to all of the five items as follows: “1) (i /daae ()
“Muhammad is sleeping”, 2) (cusape! i 4§ “Believers have
succeeded”, 3) (cusball ze 4/ ) Allah is always with those who are
truly patient, 4) (cuwité 4wy Jig aleal) Teacher enters in and students
are absent and 5) (&L Lea9) Muhammad is successful. This candidate
provided his/her answers without indicating which are sentences of
(bl £Li¥)) “In-shau- talabiyu” or (&) £ £Li¥) “In-shau-ghairu-
talabiyu”. Moreover, he/she failed to consider that the sentences with
(Bl £l “In-shau- talabiyu” must be in one of these conditions
(command — forbidden — interrogative — wishing —vocative) and ( st&iy/
Bl _€) “In-shau-ghairu-talabiyu” should be having (Exclamation—
praise or slander — hope — oath — contract).
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The correct responses were supposed to be as follows: “The three
(bl £ldi¥) “In-shau- talabiyu”: 1) (e o) “Master you work
well”, 2) (oled <ily JSG %) “Don’t eat when you are full” and ( ceead/
fdaluut) “Are you good in swimming?” And the two (&l _ué sLLiiY)
“In-shau-ghairu-talabiyu™: 1) (Lud 2l cs& of ) “I expect my
marriage to be soon” and 2) (&4 A/ of /4 “By God, | did not speak a
lie”.

In part (b), for instance, one of the candidates identified each adjective
of (4Lsh) “4l-kinaya” from the given (<Ll “4l-kinayati as follows:
1) “(4ush) “dl-kinaya” of (Jar) “Men” 2) (L) “Al-kinaya” of
(~aleal) “Disobedience” 3) (L) “Al-kinaya” of (<sal) “Death” 4)
(LLsh) “Al-kinaya” of (s “Hospitality” 5) (&) “Al-kinaya” of
(£ “Old age” which were incorrect. The expected answers were
supposed to be as follows:

1) (L&l asi) “Someone sleeps so much in the afternoon” is (L)
“Al-kinaya” of (Letddly &y il 4 iy g0 “Somebody who
lives in luxury and wealth”

2) (olae o M) “Somebody threw his stick” (€U “Al-kinaya” of
(Meadly Uil Job so0 aldf oil) “Someone who took a rest after
movement and journey”

3) (cwi<l 4aeli #) “She is soft in the palm of her hand” (4L “Al-
kinaya” of (casll Gy autllf e a4 13 (A lrd AT “A woman
who lives luxuriously where demotic choirs are attended by house
maids”

4) (4w oM g8 “Someone knocked his tooth” (4Lsh) “Al-kinaya” of
(s £ s palill G¥ aail) “This is a regret because the one who regrets
always knocks his tooth”

5) (olily 44 L&) “Everyone is pointing fingers at him” (LUl “Al-
kinaya” of (lSall sle g 5 gy abied)) “Greatness, fame and prestige”.

In item (c), for example of one of the candidates identified ( it/
Jusad) “Al-majazi mur-sali” and its (4%) “Al-alaga” like this: 1)
(el jlaal) “Al-majazi mur-sali” is (4ad) “Circumstance” and its
(4al) “4l-alaga” is (dgldal _u€) “Not similar”, 2) (Jeusal laal) “Al-
majazi mur-sali” is (Lust) “Causative” and its (4ef) “4l-alaga” is
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(dgldall £) “Not similar”, 3) (Jusll jlaal) “Al-majazi mur-sali” is
(¢s% Le lie)) “To consider what will be” and its (44) “4/-alaga” is
(dgldall £) “Not similar”, 4) (Sl Jlaal) “Al-majazi mur-sali” is
(Lesd) “Causative” and its (4df) “Al-alaga” is (deldal £€) “Not
similar” and 5) (Jusd lael) “Al-majazi mur-sali’ is (Ldaed)
“Position” and its (<) “Al-alaga” is (dgldel £) “Not similar”
which were incorrect answers.

The correct answers were supposed to be; 1) (Jusl asl) “Al-majazi
mur-sali” is (<s&f) “Rain” and its (D) “dl-alaga (L)
“Causative” it means the originator of giving leaves.

2) (Jurd jasl) “Al-majazi mur-sali” is (4iel) “His word” and its
(4t) “Al-alaga” (4<iaf) “In part” it means the whole speech.

3) (sl laal) “Al-majazi mur-sali” is (Lsead! Loall Ataal) “The
Kingdom of Saudi Arabia” and its (4d&f) “A/-alaga” (44
“Wholeness” it means a part of Saudi Arabia.

4) (Sl jlaal) “Al-majazi mur-sali” is (asd ) “In felicity” and its
(4 “Al-alaga” (44ad) “Circumstance” the where is the happiness.

5) (Jusd laal) “Al-majazi mur-sali” is (zedl) “Wheat” and its
(%)) “dl-alaga” (cu& L JLie) “To consider what was” it means
breads. This shows that the candidates had inadequate knowledge of
(LLslly jlaal) “Al-majazi” and “Al-kinaya” in the Arabic Language.
Extract 10.1 is a sample of a candidate’s responses.
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Extract 10.1: A Sample of Incorrect Responses in Question 2
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Extract 10.1: A sample of incorrect responses from a candidate who
provided types of (<L) “Al-kinaya” instead of identifying adjectives
of (4Lsh) “Al-kinaya”.

As shown in the data analysis, 28 (21.8%) candidates scored average
marks which ranged from 5.5 to 8.5 marks. These candidates depicted
inadequate knowledge of (&Ll y jtaal) “Al-majazi” and “Al-kinaya”.

On the contrary, there few 2 (1.6%) candidates who managed to
compose five sentences; three of them with (=&f L) “In-shau-
talabiyu” as well as two of them with (& € £l&i¥) “In-shau-
ghairu-talabiyu, clarify each adjective of (<L) “4l-kinaya” from the
(wblsh) “Al-kinayati given and find out all (Jus! laal) “Al-majazi
mur-sali” and its (<) “Al-alaga” in the sentences given. This shows
that the candidates had sufficient knowledge of (LUsls _iaal) “Al-
majazi” and “Al-kinaya”. Extract 10.2 is a sample of a candidate’s
responses.
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Extract 10.2: A Sample of Correct Responses in Question 2

Extract 10.2: A sample of correct responses from the candidate who
was able to find out correctly all (furel/ ilaal) “Al-majazi mur-sali”
and its (4®f) “Al-alaga” as required.
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3.1.3 Question 3: Poems and Prose
The question had three parts, (a), (b) and (c). The question intended at
testing the candidates’ ability to comprehend the given poem and prose.
The question was set from the topic of literature.

In part (a), the candidates were required to complete the following
missing verses of the given poem.

) R —— * (£ldi ¥g 0 4d7 ¥ 2108 “So you said we do not do”.

3) (aSie 4V Jow,s sagr 49 “Anyone who satirises the messenger of
L

P — * (p)Y alio taae a2 42 “As a sacrifice for

Muhammad honour”.
5) (44 cwe ¥ ala Hilad) My tongue is strict, without fault * --------------

In part (b), the candidates were required to read the poem given and
then answer the given five items.

(padiy e bl dagd o *alaads Jiud Ju2d 13 &y 3 g) “And whoever has
grace, he will be stingy with his grace * on his people, they neglects
him and slanders him”.

1) (fedl 13t el aud Loy “What is the name of the poet?”

2) (feldd /da Jile uae s/ 49 “In what era did this poet live?”

3) (uaddl /is Luulia sS) “Mention the context for this poem”

4) (feudl gy 4padadl La) “What does this poem mean?”

B) (aediy -Jad /i ;L0Y) iy pdall Hilea Sl “Write the meanings of the
following vocabulary: (His honour, be slander)”

In part (c), they were required to explain on the intended meaning of the
given prose.

(A bl dilida o) dua po il g chrd) ade i e g o 98 9 A8 48 I ) A b

g g agd b cdgad y 2ol 575 ol gung Lo gl aila G 2 e Dadald ikl Lo o gd

LS o jS cab JLiS 2 ST LaS ab jlicd o S g g gt (pidis el i Y g o] 2oy
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"M lia didge o u$9) “My son, your father has died. He was alive
and lived until he retired. I recommend you that If you take care of him,
you will reach where your people reached, so take care of me: Be kind
to yourself, your people love you, and be humble to them and they will
raise you, and open your face to them they will obey you, and do not
take anything over them to dominate you, and honour their young as
you honour their elders, they will honour you too and their young will
grow while they are in love of you”.

This question was attempted by 253 (97.3%) candidates, out of which
39.1 per cent scored from 9 to 14 marks. The other 43.5 per cent scored
from 5.5 to 8.5 marks and 17.4 per cent scored from 0 to 5 marks. The
general performance in this question was good as 209 (82.6%)
candidates scored from 5.5 to 14 marks. The candidates’ performance is
summarised in Figure 3.

100 +
90 -
80 -
70
60 -
50 ~ 435
40 ~

30
0 | 17.4

0 -
0.0-5.0 5.5-8.5 9.0-15.0
Scores

39.1

Percentage of Candidates

Figure 11: The Percentages of the Candidates’ Performance in Question 3

The analysis shows that, 39.1 percent of the candidates who scored high
marks in this question were able to complete the verses with appropriate
words. They also managed to answer the given five items accordingly.
Furthermore, they explained the intended meaning of the given prose as
required. This good performance suggests that these candidates had
sufficient knowledge of poem and prose in Arabic. Extract 11.1 is a
sample of a candidate’s responses.
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Extract 11.1: A Sample of Correct Responses in Question 3

Extract 11.1 shows a response from a candidate who explained the
intended meaning of the poem, vocabulary and prose as required.
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Conversely, the candidates who had average performance were 110
(43.5%) candidates. They were able to complete the verses with
appropriate information. Furthermore, they provided some correct
answers while others were incorrect to the given five items.

Further, few 44 (17.4%) candidates failed to complete the verses with
appropriate words. They were unable to answer the five items given
accordingly. Moreover, they were unable to explain the intended
meaning of the given verses.

In part (a), some of them copied some verses from the question paper
and used them as the answers. Others provided inadequate information.
On top of that, their responses had a lot of spelling mistakes, thus
scoring low marks. For instance, one of the candidates who provided
his/her answers with a lot of spelling mistakes is as follows:

A il 2 gl # e by 35 A Sy (1

PL Y30 807 ¥ Tl * ggina S8 g gl (2
£low ypaliy sddig * alio dll Jos sag ad (3
£l alio dane il * i 0 9 A9 T Ladd (4
£ 1YL LT Y g Ry * 4l cpe Y p b Al (5

The correct responses were expected to be:
Ml &di ) Gl oo # e il yf 2B ab) S g (1
“And God said, I have sent a servant * he says the truth as it is benefit
of affliction”.
LT Y g5l Y Al | ghricn | 30 58 4y Citgdi (2
“I witnessed him, so believe him * so you said we do not do”.
Fl g o palg datarg * aSio bl Jsu) 93¢ (48 (3
Anyone among you who satirizes the messenger of God * and it is the
same that he praises and helps him.
I aSia dana ol # s s g 009 1 O (4
“My father and his father and my honour * we sacrifice for Muhammad
‘s honour”.
Y 0 15 Y g ayg * Ld e ¥ o Sl (5
“My tongue is strict, without fault * and a sea that is not disturbed by
buckets”.
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In part (b), majority of the candidates provided irrelevant responses.
However, there were few candidates who left the items unanswered.
For example, one of the candidates provided incorrect answers as
follows; 1-(cwld cw (nus 98 Soll figd e Llddl al) “The name of the poet is
Hassan bin Thabit” instead of “(dw =/ v ) “Zuhair bin
Abisulma?”.

2-(eadl _wae 4 elddl 138 ile) “This poet lived in Arab era” instead of
(Al _uandl 4 4ile) “lived in Pre-lslamic era”.

3-(aley e Al o ) Jpuy (o sadd) Ji6 Lulid) “The context for this
poem is from the prophet peace be upon him” instead of ( v A Ztal/
cige oy &lally Gliv) “to praise of Haram bin Sinani and Al-harith bin
Awf”,

b (o OsS dash B aldd o (i of Jads Y S ) SIS 1) S Ligy o sl
) “The theme of the poem that any person who is wealthy does
not make good to his people, he will be among the losers” instead of
(olid Y Dalay [5isS ply 4ash pritel dbaiy lewafy dash o i 1] Juail) il
4lag) “If the owner of the grace is stingy among his people and
withholds his grace, his people refrain from him and they do not need
his wealth and money”.

B-(Jadll (585 -Judad i :4Y) <l pdall Hileq) “The word ‘His honour’
means (much honour)” instead of ( —aedis dewdly Jadll cala o8 - Judad /i
sy g/ dad diay i g (#:3) “His honour means that one with capacity
and slander is meant to describe someone who is ugly or bad
behaviour”.

In part (c), most of them skipped this item. Some of them wrote two or
three lines. Others provided unclear explanations due to weak mastery
of Arabic language and few of them made repetition of the same given
prose. For example, one of the candidates wrote that: ( s &b/ o & b
S g ad Ll B S ile gf Lidll 8 5 S o sae S ali] IS o da g i (oA
LS oy e aF Luitl) 4 dda oIS Jadll ). My son, your father is the
one who found my son. You were my age many in this word or he lived
a lot in this word, then he found that he was son of grace. He was an
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attribute in this world; then you should be honoured by their elders.
This candidate provided unclear explanations that caused him to get
low marks. “The correct answer was supposed to be:

La L] Chull S (a (flg oty I by of padss Y Lo jand) (o &l 8 Ml ) (i bt
o gf fale ALilSaS LilSa ) lad y Lay s gy 4 g ol lia i g o] Sy les
I g G gl g Juads i i Vg 30 4S5 gy ab jlicss g b SIS o 4S5 cCallly

gty g g g iy aglll]g agle uST7 Y g pid) 575 oo
“My son, your father has reached such an age that he can no longer live
after that. And he received from the costs of life what made him bored
of living and its trouble became clear. And he advises you to do what
will raise you to a position like his, treat your people kindly. And honor
their elders and their young ones, they love and honour you. And do not
distinguish yourself with below them of opinion or money. And be
humble and do not be arrogant about them, and let them be happy, they
make you master and obey you”. Extract 11.2 is a sample of a
candidate’s responses.
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Extract 11.2: A Sample of Incorrect Responses in Question 3.

Extract 11.2 shows responses from a candidate who completed the
missing verses with inappropriate information.
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3.1.4 Question 4: Poems
The question had three parts, (a), (b) and (c). The question intended at
testing the candidates’ ability to comprehend the Arabic poems. The
question was set from the topic of literature.

In part (a), the candidates were required to write five verses after these
following verses (aaelly CuSil G cdnd coall * o il 138 o lgd )
“And your saying of this is not “Badhairu” * the Arabs and non- Arabs
who deny him”.

In part (b), the candidates were required to read the verses given and
then answer the following given five items.

(a0 aStey (o JS Liilta g # agd Ldi of Lide s (e B) “O who is sorry that we
should leave * our feeling everything after you is not existence”.

1) (fedl 13t e lddl adf La) “What is the name of the poet?”

2) (fseldd /de Ay o) “Where did the poet born?”

3) (uaddl /is Luulis sSi)) “Mention the context for this poem”

4) (fewd gy 4paiall Lo) “What does this verse mean?”

5) (Liday -Jjo oY Clajdall iles S “Write the meanings of the
following vocabulary: (be powerful, our existence)”

In part (c), they were required to explain the intended meaning of the
following given verses of poem.

1) (aSafly awasll iy aluallf b * Jilalea 9 ) (uldll Joe/ ) “You decent
people with whom | interact you * are the one | quarrel with my
opponent and the judge”.

2) (pus 4aad G aadl] cuad of * dsla dlie <L Lie)) ] protect it
from your true outlook * to think fat in one whose fat is a tumor”.

3) (Alllly JLs¥) oie &gl J) # o pbills Luidd] AT £ 141 Lag) “What benefit is
it to my brother in the word * If vision for him the light and
darkness makes no different”.
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The question was attempted by 183 (70.4%) candidates who sat for the
Examination. The performance shows that, 34 (18.6%) candidates
scored from 9 to 14.5 marks. Also 89 (48.6%) candidates scored from
5.5 to 8.5 marks while 60 (32.8%) candidates scored from 0 to 5.0
marks. The general performance was good because 123 (66.8%)
candidates scored above average marks as illustrated in Figure 12.

100 -
90 -
80
70 1
60 -
50 -
40 - 32.8

30 1 18.6
20 -

0 - |
0.0-5.0 55-85 90-15.0
Scores

48.6

Percentage of Candidates

Figure 12: The Percentages of the Candidates’ Performance in Question 4

The data reveal that 34 (18.6%) candidates who performed well in this
question understood the requirements of the question and were able to
write five verses after these verses ( iad coall * o ity /b (o llgd g
aaelly < Sl (49 “And your saying of this is not “Badhairu” * The Arabs
and non- Arabs who deny him”. They also managed to answer the given
five items accordingly after reading the verses given. Moreover, they
were able to explain the intended meaning of the verses of poem given.
This good performance indicates that these candidates had sufficient
knowledge of the poems. Extract 12.1 is a sample of a candidate’s
responses.
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Extract 12.1: A Sample of Correct Responses in Question 4

Extract 12.1 shows responses from a candidate who provided correct
responses all the five items in part (b) as required.
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On the other hand, data analysis of this question shows that 89 (48.6%)
candidates had average performance. These candidates managed to
provide some five verses after these verses ( * oilaas /18 (oo Llgd yurly
aanlly &Sl e o i o el Moreover, they could provide some correct
answers particularly items (1) and (2). For example, in part (a) one of
the candidates provided all correct five verses and one correct item in
part (b). Furthermore, they failed to provide correct answers to the
remaining items, thus scoring average marks.

However, there were some 60 (32.8%) candidates who had weak
performance in this question. These candidates were unable to write
five verses after these verses ( (e «dad coad # ol Jid o Al usly
aadly <<l “And your saying of this is not “Badhairu” * The Arabs
and non- Arabs who deny him”. They also failed to provide correct
answers to the given five items accordingly after reading these verses ( &
ple Sty fpd JS Liltay * agdlii of Lde jav (34) “Anyone who makes a
serious matter of separation * our existence, everything to you later is
nothing”.

In item (1), one of the candidates wrote his/her responses as follows:
(rdes (ol o 8 34 el Jda awd) the name of the poet is Zuhairu bin
Thabiti and another one is (L4 Farzdaq instead of ( (el cubl g/
Cpeaad] v daal) “Abutayyib Al-mutanabbi Ahmad bin Hussein”.

In item (2), one of the candidates responded as follow: ( 4 Ll /is g
4<4) this poet was born in Mecca and another one in (&) Sham instead
of (44s<) “Kufat”.

In item (3), one of the candidates provided his/her answers as follows:
(alews ile Al Lo ) Jpeuy Adina g0l 1o Lualia) “the context for this
poem was life of prophet peace be upon him and another one was ( =i/
Uy Ul cdow 1) “Reconciliation between minister and Seif Dola”
instead of (Ust cduwy (muiial) cubll o G 53ds Jas) “It happened a
dispute between Abutayyib Al-mutanabbi and Seif Dola”.

In item (4), one of the candidates wrote the intended meaning of that
verse as follows: (a4 4elid aSio JS cuw dafg e 3y Ao G5547 Y a5 2 p)
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“People want you not to differentiate over one because each of you has
its end”. The correct answer was supposed to be: ( Lide 48 of ¥/ b/ L
L)ty (s JS i LS cpaalld) Gilal) Joll L g1l Lide 3y e Ui o)
addl 4u) “O leader: Even If we try to stay away from you, it would be
a serious matter for us because of our sincere love for you that we have
in our hearts, and all things for us are nothing after our separation from
you™.

In item (5), one of the candidates provided incorrect intended meaning
for the vocabulary given as follows: (&e/ - Lilday . -jz) “be
powerful — escape and our existence — give and another one wrote; ( -z
ald - Uiy J1) “be powerful — humiliate and our existence — talking
dirty instead of (¢t ity day e G -Lilday | abinyy 4y — jz) “be
difficult for— be hard or strong and our existence- our love”. This weak
performance suggests that those candidates had inadequate knowledge
of the poems.

On the other side, the candidates had inability to express themselves in
Arabic Language. These candidates provided unclear explanations to
the given verses; others made repetition of the same verses given from
the question. For example, one of the candidates provided unclear
explanation, thus scoring low marks. ( 4 ¥ ol JS 4 Jiry odlf o L
yyﬁ/gjwd@mﬁwﬂﬁﬂ/ /.idé,ﬁj..y#gﬂ/ra&ﬂdé@ o pilalea
S5 o) g Sy il Guad] B Y it A sl JED) “O King, who is fair in
all people except in my dealing with you. You have judged according to
your wishes. At this time, your friend was not weaker than me. In this
word, the light does not look at your life except in the good that is
mentioned and sees the light”.

The correct response was supposed to be;

1) ((Lald olS Lo ¥ usa¥ly (Sl grans Jady lsans () (Gl 25 4lie Ga b
iy 4 asad Cild gl B aali] U cilady) (oS (A8 o ra Glnd) 4B b
diilSa cua par 44 aslat)) <O Whose justice has surpassed all people and
included all aspects except what was specific to the way of living
with me and how fairness, then you are my opponent, and you are
the ruler in it, according to your position”.
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2) (i el oo aaiy GBI deaii Y o sule g ji Y A ddslal) Lif JBit ga )]
Ay padid] G (G A (S ST g0 ab e C9) <] hope that you're
sincere and unwavering looks do not deceive you, so that you think
and are unable to distinguish between me and those who are inferior
to me, so you will be like one who did not differentiate fat from
tumor”.

() il Sl M MBSy yoill o ispedd a3 A e g ) “If one
reaches to the point of compromising between light and darkness, then
there is no use for the eye. Extract 12.2 is a sample of a candidate’s
responses.
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Extract 12.2: A Sample of Incorrect Responses in Question 4

Extract 12.2 shows responses from a candidate who wrote five verses of
Hafidh Ibrahim instead of Al-farazdaq, thus scoring low marks.
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3.1.5 Question 5: The History of the Arabic literature
This question had two parts, (a) and (b). The question tested the
candidates’ ability to comprehend the history of the Arabic literature.
The question was set from the topic of literature.

In part (a), the candidates were instructed to answer five items:

1- (¥ OlS) sl “Write pillars of Literature”

2- (lgo de)f ST, e i ) Lpd¥) guand) gLr¥) alid) “Literary scholars
divided literary ages into six eras. Mention four eras of literature”.

3- (f ALl =ddl g4 L) What is lyric poetry?

4- (5l jlo pary ads /i) “What is meant by the era of the
beginning of Islam?”

5- (fulell el a4 9) “Who are the Arabs’ “Ariba”?”

In part (b), the candidates were required to write about ( </ ska
adily Zuduad) “the political life of Arabs in detail”.

The question was attempted by 242 (93.1%) candidates. Among them,
63 (26.0%) candidates scored from 9 to 14.5 marks. Also 94 (38.9%)
candidates scored from 5.5 to 8.5 marks while 85 (35.1%) candidates
scored from 0 to 5 marks. The general performance in this question was
good as 157 (64.9%) candidates scored from 5.5 to 14.5 marks. Figure
13, summarise the performance of question 5.

Scores
m0.0-5.0
O5.5-8.5
m90-150

Figure 13: The Percentages of the Candidates’ Performance in Question 5
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The analysis showed that 63 (26.0%) candidates who attempted this
question performed well. Those candidates were able to answer
correctly five items given and they could also explain about the political
life of Arabs in details. This indicates that the candidates had sufficient
knowledge of the history of the Arabic literature. Extract 13.1 is a
sample of a candidate’s responses.
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Extract 13.1: A Sample of Correct Responses in Question 5

Extract 13.1 shows responses from a candidate who explained correctly
the Arabs’ “Ariba” as required, thus scored high marks.
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Further analysis showed that 94 (38.9%) candidates had average
performance. These candidates provided some of correct responses and
other responses were incorrect. They also managed to explain about the
political life of Arabs. Hence, they deserved average marks. This
suggests that these candidates had inadequate knowledge of the history
of the Arabic Literature.

However, 85 (35.1%) candidates had weak performance. These
candidates failed to provide correct responses to the five items given.
Also they explained partially about the political life of Arabs. This
shows that the candidates did not have enough knowledge of the history
of Arabic Literature.

In part (a), item (1), one of the candidates wrote the purpose of studying
instead of the pillars of Literature. Another example, in item (2), one of
the candidates explained about the lyric poetry as a beautiful poem
which was incorrect instead of explaining that it is the poem which
deals with purposes such as pride, lamentation, wisdom, satire and love.

In part (b), for example, one of the candidates explained about the
political life of Arabs in short as follows: ( ‘b sbadl 4 ciall LS
ki 2 g agd 58l aeidil] g Lsasbss dains agd acd  Glacd) “the Arabs were
divided into two groups. The group of Arabs who had a political
undertone and they had no political status. Another one wrote that the
Arabs lived collectively in the protection of the king”. The expected
answer was supposed to be:

o okt culS s dans aoged aiad, Gl dialsaad] agilin Ciin (s i p2l] LS)
5 lal g 8 jdliad] gt LgS sha S g (o il WL 5 jmiad) 5 jloa) AN & Lo/
Leglilt Loyl il Sh 548 5 jla) Lofg sl (i a LgS gla g o g ol) WL A8 Licalekl)

(Sl s (gSala (o gl g o hanlly

“In terms of their political life, the Arabs were divided into two groups.
A group of Arabs who had a political undertone, these were in the three
Emirates. Emirate of Al-hira which was established by the Persians and
their kings were called Al-manadhira, the Gassan Emirate was
established by the Romans and its kings from the Banu Gassan, and the
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Emirate Kinda was affiliated with the vassal of Yemen and it was
famous among its kings Hajaru Kindy.

S gubsl] (oo S | gilS L] islois 8t g arged (50 Al ] (et sS Y il Lo
AL g Lo pld bale (9 o il lglndd LS JS puiaiiy A4 g o Jilid ) (o pails
Jog) adiy Lo plithe LLud S LS9 Aaluad g 5129 12 g 2 oS Ga Liled] Jial) £ gL

(il 59 bgalS ) e Lgiacly
“As for second group of Arabs, they had no political status, but were
nomadic tribes belonging to well-known tribes. Each tribe was subject
to its Sheikh, who was usually a knight and a master who possessed the
ideals, noble feet and elogquence. Each tribe had its fighters and poets,
and its sheikh had privilege as if they were laws”. Extract 13.2 is a
sample of a candidate’s responses.
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Extract 13.2: A Sample of Incorrect Responses in Question 5

Extract 13.2 shows responses from a candidate who provided
explanations about Literature instead of the intended meaning of the era
of the beginning of Islam, thus scored low marks.
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3.2 Section 2: Essay Type Questions
This section comprised of three questions and the candidates were required to
attempt only two questions. Each question carried twenty (20) marks.

3.2.1 Question 6: The Story of the Sailor Sindbad

In this question, the candidates were required to explain the reasons of
Hindbad which led him to meet with Sindbad and provide the
advantage of the story in our day life in not less than two hundred
words. The question tested the candidates’ ability to apply their
thoughts and build capacity of convincing as well as expressing
themselves using the Arabic Language. The question was set from the
topic of Response to Reading.

The question was attempted by 194 (74.6%) candidates. Among of
them, 108 (55.7%) candidates had scores ranging from 0 to 6.5 marks.
Moreover, the data indicate that, 78 (40.2%) candidates had scored
from 7 to 11.5 marks and 8 (4.1%) candidates had scores ranging from
12 to 15 marks. The general performance of the candidates in the
question was average, considering that 86 (44.3%) candidates scored an
average of 35 per cent and above, of the 20 marks allocated to the
question. The overall candidates’ performance in the question is
summarised in Figure 14,

100 -
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70
60 55.7
50 S
40 A
30 S
20 +
10 ~ 4.1

0 - . [

0.0-6.5 7.0-11.5 12.0 -20.0
Scores

40.2

Percentage of Candidates

Figure 14: The Percentages of the Candidates’ Performance in Question 6
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The analysis shows that, 8 (4.1%) candidates who scored high marks
were able to understand the demands of the question. Moreover, they
managed to explain with sufficient explanations on the reasons of
Hindbad which led him to meet with Sindbad. Furthermore, they
showed the advantage of the story in our daily life such as giving
charity to the poor resting comes after hardworking and God may give
his wealth to anyone he wants. Hence, they deserved high scores.
Extract 14.1 is a sample of a candidate’s responses.
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Extract 14.1: A Sample of Correct Responses in Question 6.

Extract 14.1 shows responses from a candidate who explained the
reasons of Hindbad which led him to meet with Sindbad as required.
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On the other side, 78 (40.2%) candidates who had an average
performance were able to understand the requirements of the question
but failed to provide clear and sufficient explanations. Additionally,
their responses had grammatical and spelling mistakes. Therefore, they
attained average marks.

However, 108 (55.7%) candidates had a weak performance. Some of
them were unable to interpret the question correctly. Others provided
unclear and insufficient explanations and their responses had a lot of
grammatical and spelling mistakes. This led them to inability to express
themselves in Arabic correctly. For example, one of the candidates
explained about the family of Hindbad instead of the reasons of
Hindbad which led him to meet with Sindbad. This led them to score
low marks. Extract 14.2 is a sample of a candidate’s responses.
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Extract 14.2: A Sample of Incorrect Responses in Question 6

Extract 14.2 shows responses from a candidate who explained the
journeys of Sindbad instead of the reasons of Hindbad to meet with
Sindbad.
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3.2.2 Question 7: The Story of Bundiqiyah’s Merchant
In this question, the candidates were required to explain about talking
between Antonio and Basnio and their good features in not less than
two hundred words. The question tested the candidates’ ability to apply
their thoughts and build ability to convince as well as expressing
themselves using the Arabic Language. The question was set from the
topic of Response to Reading.

Question 7 was attempted by 58 (22.3) candidates, out of which 51
(87.9%) candidates scored from 0 to 6.5 marks. Moreover, the data
indicate that, 4 (6.9%) candidates scored from 7 to 11 marks and only 3
(5.2%) candidates scored from 14 to 15 marks. The general
performance of the candidates in the question was weak. This is
because only 7 (12.1%) candidates scored an average of 35 per cent and
above, of the 20 marks allocated to the question. The overall
candidates’ performance in the question is summarised in Figure 15.

Scores
0.0 - 6.5
07.0-11.5
m12.0-20.0

Figure 15: The Percentages of the Candidates’ Performance in Question 7

The analysis shows that 51 (87.9%) candidates had weak performance
in this question. Some of these candidates were unable to express
themselves in Arabic. For example, one of the candidates wrote the
introduction only. Others responded contrary to the demands of the
question. For instance, one of the candidates explained on the
conversations between Antonio and Shylock. On top of that, their
answers had a lot of grammatical and spelling mistakes. Further, one of
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the candidates responded with grammatical errors as follows: ( e & &/
dsall pling Lo JS ale o guibil of oSly Jas Lig g ol Y) instead of (sl
Ll 4l rting Lo S duises 50 chin Ll [ pol5 (pad] gpialy dlitac 3 g g
“Antonio knows that his friend Basnio is not a very rich merchant, so
he will give him all the needs in the life”. This weak performance
shows that these candidates had poor mastery of Arabic Language.
Extract 15.1 is a sample of a candidate’s responses.
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Extract 15.1: A Sample of Incorrect Responses in Question 7

Extract 15.1 shows responses from a candidate who provided unclear
and insufficient explanations, leading to low marks.
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The candidates who had an average perfomance in this question
explained partially conversations between Antonio and Basnio as well
as their good features. Additionally, their explanations were insufficient

and had some spelling errors. Moreover, some of them failed to
organise their thoughts in a good flow.

However, there were few 3 (5.2%) candidates who performed well in
this question. These candidates were able to express themselves in
Arabic. Likewise, they were able to organise their thoughts in a good
logical flow. Yet, their responses had some spelling mistakes. Extract
15.2 is a sample of a candidate’s relatively good responses.
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Extract 15.2: A Sample of Correct Responses in Question 7.

Extract 15.2 shows responses from a candidate who explained on good
features of both Antonio and Basnio, thus scored high marks
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3.2.3 Question 8: The Story of Baghdadi’s Merchant
In this question, the candidates were required to explain how the
merchant Hassan knew that there was Ali Koja’s jar with dinars in it
and what did he do after seeing them. The question tested the
candidates’ ability to express themselves in Arabic. The question was
set from the topic of Response to Reading.

The question was attempted by 246 (94.6%) candidates. Out of which,
14 (5.7%) candidates scored from 12 to 17 marks, 101 (41.0%)
candidates scored from 7 to 11.5 marks and 131 (53.3%) candidates
scored from 0 to 6.5 marks. The general performance in this question
was average as 115 (46.7%) candidates scored from 6.5 to 17 marks, as
summarised in Figure 16.
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Figure 16: The Percentages of the Candidates’ Performance in Question 8

The candidates who performed well in this question were able to
demonstrate and justify the statement given. They also managed to
explain how the merchant Hassan knew that there was Ali Koja’s jar
with dinars in it and what did he do after seeing them. Moreover, they
demonstrated the ability to express themselves in Arabic. In spite of
that, their responses had spelling mistakes. This good performance
suggests that the candidates had sufficient vocabulary and adequate
knowledge of the story of Baghdadi merchant although there were
spelling mistakes. Extract 16.1 is a sample of a candidate’s responses.
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Extract 16.1: A Sample of Correct Responses in Question 8

Extract 16.1 shows responses from a candidate who explained on what
did the merchant Hassan after seeing the dinars.
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On the other hand, 101 (41.0%) candidates had an average performance
in this question. These candidates explained partially on how the
merchant Hassan knew that there was Ali Koja’s jar with dinars in it
and what did he do after seeing dinars. However, they failed to organise
their thoughts in a good logical flow. Additionally, their explanations
were insufficient and had some of grammatical and spelling mistakes.
This made them to score average marks.

On the contrary, 151 (53.3%) candidates had weak performance in this
question. Some of those candidates failed to interpret the given
statement. They provided unclear explanations. Moreover, their
explanations had a lot of grammatical and spelling mistakes. This weak
performance shows that these candidates were incompetent in Arabic.

For example, one of the candidates wrote responses as follows: ( <&
basS o ) lgalawa of i Jsb LnsS Ao allll ) cibds G alll) Leligy
o_uilid £ g pudicw ¥ il “Having seen it, the merchant Hassan goes
to Ali Koja and says rushwa or msamaha to Ali K for reasons that he
cannot return his dinars”. This candidate could use even Kiswahili
words by writing them in the Arabic Language writings due to lack of
inability to express himself by the Arabic Language. The expected
answer was supposed to be ( «#d wili Sl 4 o Gua alil ale of ey
0 af Lia S Ao S a4 Sl Uslj (s sy St plaall (B (Gl ) Guin sl
b OIS Lo ] Cpsal Sl o s g9 _silliah (o g Lo B35 e pd) ety L in )
LaS 5 ad) st Al ya i) Laly , Gpedl) (pa o) sidi) ol ol il La3a AT (gl i (ya
S e bagS o 4 gy odl GlSal) 4 gy g cils) “After the merchant
Hassan knew that the jar had dinars, the merchant Hassan went to the
market early in the morning, and bought olives to fill with a jar of Ali
Koja. Then he went to his store and opened the jar and took what was in
it of dinars and put it in a safe place. He threw the olives that were in it,
then filled it with the olives he had bought from the market, and when
he finished, he sealed the jar as it was and put it in the place where Ali
Koja had placed it before”. Extract 16.2 is a sample of a candidate’s
responses.
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Extract 16.2: A Sample of Incorrect Responses in Question 8.
Extract 16.2 shows an incorrect response from a candidate who

explained on Merchant Hassan’s innocence instead of the given
statement.
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4.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC
The analysis of the candidates’ responses in each topic shows that the
candidates had good performance in Language Use (70.3%) and Morphology
(69.75%). These candidates performed well in these topics because they had
sufficient knowledge and clearly comprehended the demands of the respective
questions. This suggest that the candidates scored an average of 35 and above
in these topics.

Further analysis of the candidates’ responses in each topic indicates that, the
candidates had average performance in Grammar (52.2%), Literature (46.53%)
and Comprehension (40.5%) because they had inadequate knowledge on the
topics tested and insufficient vocabulary to express themselves in Arabic.

However, there were candidates who had a weak performance in the topics of
Response to Readings (34.36%), Rhetoric (32.5%) and Composition (26.43%).
The candidates had insufficient vocabulary which hindered them from
expressing themselves well in Arabic. The summary of the candidates’
performance in different topics is presented in the Appendix.

5.0 CONCLUSION

The general performance of candidates in Arabic Language in the ACSEE
2021 was average (46.57%). This performance could be attributed to the
candidates’ good skills in reading for comprehension, adequate knowledge of
language use, morphology, literature and the ability to use principles of the
Arabic grammar. These skills enabled them to understand and identify the
requirements of the questions. Thus the candidates with weak performance
could not respond according to the requirements of the quetions and they
lacked enough knowledge of the topics tested.

6.0 RECOMMENDATIONS
In order to improve the performance of the candidates in Arabic Language in
the future, the following recommendations need to be taken into account:

(a) The use of the Arabic Language in schools should be given a priority to
teachers and students in order for the candidates to employ good writing
and understanding when writing their responses.
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(b) Students should be given enough time to practice both productive and
receptive skills. This will build into them language competences.

(c) Teachers should guide language learners on how to read and answer the
questions, they should be given a variety of stories where they can read and
answer the questions. This will improve both; their ability to respond
questions and real life communication. In turn, it will be easy for them to
answer questions 6, 7, and 8.

(d) Students should be encouraged to read Arab texts like newspapers,
magazines and books in order to acquire many vocabularies. By so doing,
they might improve their performance of the topic of Composition tested in
question 6 and 7.

(e) The topics that appear to be more difficult for the students like Rhetoric
should be given more attention through discussion so that their
understanding will improve in terms of the use of teaching and learning
methodologies.
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Appendix

Summary of Candidates’ Performance in Each Topic in 2021

125- ARABIC LANGUAGE

Number | The Percentage
of of the
Questions | Candidates who
scored an
Average of 35 or
Above

Remarks

3. | Grammar 1 52.2 Average
4. | Literature 3 46.53 Average
5. | Comprehension 1 40.5 Average
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